BRISYDH
ADN, AEN 3U—-X

FESTO




BRISULH FESTOD

RmE
¥R
ZAYF B EE SHEICE B AU AY-TZBSFD
IR YF(HEAICUNHA T T EAY RN E(C
SNBHHSRVGEE ieiE
Oy RSeimal AL /IRl ZAYFREFT) 2y e
EE5TEFIVER]AE RAER R
By - R - B OB
. . EFIRINF—2RINT 5Ty 3>
LAt ey JRyREEZ MACPITEL
ISOMUESV>H K90 VP =VERE
e ISO 21287#USDERIS>Y o BREH - BIVIVEOEEY o HEDZRBESECHIETES o RBEREIETTE, RS EH
88 : ADNSU-X BEIANF 2RI ZI933>  SSBESEOMUREOTIEY)  0F7/03-ESUSECHID
EiE) : AENSU-X Ny REEZ NI R ZRE 40 L ORREREEE
e ZOIV\ &L EER/ I~ o BNIOYI A AFLIEENEEZ o DARWI-2aVICdD, 4R
SAUCE B BT TV -3 RVRICSHIZ B TREWEZ oD RV S IVGIL:
ADBEAMCLDZERIbENT FiR o ZAYFRRL AT 1y NeAREET
I734 o ADNPFOYRA/N— AYRAN-H  LfF
e ED15-HEIATAILLDE T RUN-ROHIER (RS
DRIRE=—-XCEDETHEL(C
1R DT RE
: Thpa b ISO 21287&1S0 15552 Y4 XHh#

AL

=BGV ;781 e ISO 155528 DI AHELENR
jnn jnnl THI50%DERR-Z1E,
] - ] - E

B % i ! = ]
gs
Sy IVHIE ISO 21287&ISO 1555207y 3> ke
BEsysay : P BoEERI 7 v33> : PPS
BEE—K BEE—K ADN-_-PPSDIy> 3> ST DMEREICHNT

o JUSHDMIKRIN-ROEE o SUSHOMmiHCE S HERD ISO 15552#U&U>HDEDELENTEFE
v2ay Ny R REIEN TVEY . IT7IVIAHNEENTVET . LA TVET,

PIVT-3ay FIVT -3y
. EEH o {E~hEsfE
o & o &~
o HRIRNE—E o HRIRNE—{E~P
fl & fl &
. BEAE . BERE ADN. P
o BSRIHIR o BRIy P LLEATHIAED -
ARIRUNAE
o BRI
© BRE{ER

2 =2>www.festo.jp/catalogue/adn 201604



BRISUYH
e

S=-ZNUI->3>
IS

J—R&AE

FESTO

B

- I

S1:sAREZROYR

MitEfT & 14258t
BEOFR A DAEEOREEIEZIRIR

S2 : moyk

FUAL- 3IERIEBREIHEND THRE)
FIEBZ b/ CERDA3 3

@ S6 : EiRftiR {EREEEHE : max. 120°C
S10 : (RS RIS (T NOI— (D CIREIOB VR E LB S 510
© BEIENCS T IR (REIREYERER)
—= S11 : (REEITE TR o> SRR C & DR AR AR,
A R EETOBME R
BEEDCIIIS IR (REEPEEYIEAER)
$20 : EEHmOYE EENCEZE OO CENTIRE
K2 : OyRSEimU ESEE -
[ |
K5 : Oy RSeiRUE % ISOMHEDR— M1l
K8 : OyRETEEE -
.
K10 : OYRME = TIZARTIIANUE | /BB R
A— — MRSy E
- BBt
— SEBLDER K
- E&6
¥ KP : #5> 12w Mt Oy RZEXAR(COVIU TIRT
F TTERESRR Oy RE 55> TUE AR IE
¥ EL : I>ROYY Oy Rz XHECOYIU TREF
ry TR S Oy ROSE F RS IE
Q: EELR (AEOVE) Oy ROEIERE RS 1
| ]
saby R3 : MEEALE STOSIDRENTHEEIFA3 (FestoRi&940 070)
{ Oy A : TSR - MBS ISE

R8 : BAEE(LAR (HARDAIV)

EXROYRICEEE IO LDOE
MEOEAZIHC/\— RS —ILOIZA NI %A

TL : L-H—I—F>7 8K

SO EL T - —F I TZIED
BIRIET CERAL. AIENMEDIHIRIFICORR OFTHERON

TT : R

fERRIKRE-40 °C

ED15-REOBEAI T~

>a>Y-=)b
>www.festo.jp

201604

2>www.festo.jp/catalogue/adn 3



ERSY>S FESTO
SN-Z)I-23>
e 4T B K SUYHYAX | AdO—-9 AYFA | Iva>
(0} YIryh EE BCRE
[mm] [mm] A P PPS
i B
ADN 12 5, 10, 15, 20, 25, 30, 40 1~300
16 5, 10, 15, 20, 25, 30, 40, 50 1~300
20, 25 5, 10, 15, 20, 25, 30, 40, 50, 60 | 1~300 -
32,40, 50 |5, 10, 15, 20, 25, 30, 40, 50, 60, 80| 1~400 m " 520~100
63 10, 15, 20, 25, 30, 40, 50, 60, 80 | 1~400
80, 100 10, 15, 20, 25, 30, 40, 50, 60, 80 | 1~500
125 - 1~500
ADN-_-S2 12, 16, 20, 25| - 1~300 .
MmOy R 32,40, 50, 63| - 1~400 u u ®20~100
80, 100, 125 |- 1~500
ADN-_-S20 16, 20, 25 - 1~300
E@ydmovk | 32, 40, 50, 63 | - 1~400 - - m
80, 100, 125 |- 1~500 ®20~100
MAHRBMEANOYR
ADN-_-S1 25 - 5~300
40, 63 - 10~400 u u -
100 - 10~500
EEELR (AROYR)
ADN-_-Q 12, 16, 20, 25| - 1~300
32,40, 50, 63| - 1~400 u u -
80, 100, 125 |- 1~500
ADN-_-Q-S2 |12, 16, 20, 25| - 1~300
MmOy R 32,40, 50, 63| - 1~400 u u -
80, 100, 125 |- 1~500
ADN-_-Q-S20/16,20,25 |- 1~200
Ba@EyfmavR | 32, 40, 50, 63| - 1~300 u u -
80, 100, 125 |- 1~400
935571y Md
ADN-_-KP 20, 25 - 10~300
32,40, 50, 63| - 10~400 u u -
80, 100 - 10~500
ADN-_-EL 20, 25 - 10~300
32,40, 50, 63| - 10~400 u u -
80, 100 - 10~500
RUY—EHIN—
ADNP 20, 25 5, 10, 15, 20, 25, 30, 40, 50, 60
32,40, 50 |10, 15, 20, 25, 30, 40, 50, 60, 80 - u u -
4 =2>www.festo.jp/catalogue/adn 201604



BRISULH FESTO
N-Z)\WI-33>

B K my > P.FEE
I % 19—y b
=) 2 N R|I—-F

o | D ﬁ % I X =
g | g 5 5 | B N
g | 8 2 g | K 4 N ® | o
B £ 0k p 80 m- 0w 0 3 | 0® #
8 R B B 0 FY Hx H  ® | @ | H H
L5 45§ | 5| % 2R mE ®m ®w | =® B ®
o o o& o m| on S | & L [= B -
A I K2 K5 K8 K10 S6 S10 | S11 | R3 R8 T
BERHI1T
ADN 13
] ] "
| | | [ ] " ook ™ | | B oo0llt ®20
~100
ADN-_-S2 u 13
MmOk ] ] ] ] ] - ] - - - - ®20
~100

ADN-_-S20 13
Blmoyk

] - ] ] ] - ] - - - - -
HMAOBEZ M OYER
ADN-_-S1 13

] ] ] ] ] - ] - - ] - -
EgELA (AROYR)
ADN-_-Q 13

] ] ] ] ] - [ - - - - -

ADN-_-Q-S2 13

w0y R ] ] ] ] ] - ] - - . - -

ADN-_-Q-S20 13

BESAmOve | m - [ ] ] - [ ] - - - - -

953571y M

ADN-_-KP 40

] ] ] ] ] - - - - - - -
I>rOvy
ADN-_-EL 49
] ] ] ] ] - - - - - - -

AU —RH)N\-

ADNP 75
] ] - - - - - - - - - -

201604 2>www.festo.jp/catalogue/adn 5




BRSUYY

SN=-Z)\)I-33>

FESTO

B ae 547 B R SUYHYALX | AbO—Y AMYFH
® EZESIS BC#E
[mm] [mm] A PPS
# 5 EBlEVA (G4 RMD)
ADNGF 12 5, 10, 15, 20, 25, 30, 40 1~200
16 5, 10, 15, 20, 25, 30, 40, 50 1~200 -
20, 25 5, 10, 15, 20, 25, 30, 40, 50, 60 3~200 - ®20~100
32, 40, 50 |5, 10, 15, 20, 25, 30, 40, 50, 60, 80| 5~300
63, 80 10, 15, 20, 25, 30, 40, 50, 60, 80 | 5~300
100 10, 15, 20, 25, 30, 40, 50, 60, 80 | 5~400
ADNGF-_-S2 |12, 16 - 1~200 -
moyR 20, 25 3~200 - ©20~100
32, 40, 50, 5~250
63, 80, 100
25 - 1~150
40 - _
63
100
ADNM 25 - 1~2000
40 - B
63
100
6 =2>www.festo.jp/catalogue/adn 201604



BRISULH FESTO
N-Z)\WI-33>

B X m > P.Fk(d
=] i 19—y p
2 2 ik i 1y ~ | mmo-K
g g S S o g
# # g g H I
& & B & o w
® ® £ 23 # # H %
E E 8 Y - g o
8 a8 58 & 8 ie £
A I K2 K5 K8 S6
EEELA (B4 RMT)
ADNGF adngf
- - - - - [
ADNGF-_-S2 adngf
mayR
- - - - - [
=N (9078)
ADNH adnh
[ [ [ [ [ [
2B
ADNM adnm
] ] [ | [ | [ | [ |

201604 2>www.festo.jp/catalogue/adn 7




BRI FESTO
SY-Z)WI-23>
e HLT B SUYHGAL X AbO-% AMYFRAIIZY R 933>
o
[mm] [mm] A P
B g
AEN 12 1~10
16, 20, 25, 32, 40, 50, | 1~25 " "
63, 80, 100
AEN- -Z |12 1~10
2T Ty 1 . .
16, 20, 25, 32, 40, 50, | 1~25
63, 80, 100
EEELA (BROYER)
AEN- -Q |16 1~25
20, 25, 32, 40, 50, 63, | 1~25 " "
80, 100
8 =2>www.festo.jp/catalogue/adn 201604



BRISULH FESTO
N-Z)\WI-33>

T B SP.Frl
= 15—y
g " ~ ®REI—R
;s |3 ¢ &8 8 £ 2
g 2 ) 2 g N o
i & ® & ja o 8
B 8 85 £ 2 52 H X
5\ N Y E Y D 5\ f E
3 3 2 E a a o E =
A I K2 K5 K8 K10 S6
BERHI1T
AEN >
|
- - . n u 208 E "
AEN-_-Z >
S, H w3 .
2TV Ty - - n " u ®208 "
EfELR (BEOYR)
AEN-_-Q >
m m m m " - .

201604 2>www.festo.jp/catalogue/adn 9




BRISUDH FESTOD
7o) ORIE

10 =2>www.festo.jp/catalogue/adn 201604



BRISUYY FESTO

THEH)ORIE

BI&EBLVEOMOTIEHY

- 5 8 > P.3LIRRT -k

J-h&B MmHN\—(CHEATFETEE 79
HNA

J5 B WHIN—(HEHT I ETRE 80
FNC

1LEZEE AYRAN—(COMBHTFETHE 81
SNCL

27LE2E 8 1LILEZSNCLE T S5y L THIE R EIBE 85
SNCB

1LILEZRT Ay 1LILEZSNCLAET S vk (912~25) 84
LBN/CRLBN

6] TILFRSIa>Fyh BREROIAHEEREDECHEMIFILFRS T3> S E R 83
DPNA

N-A 2B MmHN\—(CHEH I BIEE 86
ZNCF/CRZNG

NSZA>T A NS=A4>&BEZNCF/CRZNGHT 34 vk 87
LNZG

[o] BREEZ(I1LILER AYRAN—(COIHEHTFETHE 82
SNCS

1LILEZRET Ty~ BREERS 11U ERSNCSET 54 ~ 82
LBG

OyR74 BRI At 88
SGS/CRSGS

I5>ThT5 SSTIABEORUNERHIE 88
KSG/KSZ

EPES FhZey U Oy RICEZE) Cy REERDATF B i8S EC 88
AD

20LFyIL S OEEEEN BT HE 88
SG/CRSG

ILFYNTS BTN, RSERLE 88
FK/CRFK

HLEZT—h OvR71SGSF 89
LQG

210wl OvRSGSFAfERUAT 88
SGA

IR YF ZAYF AU R BT AE 91
SME-8/SMT-8

IR YF 2o F B CE RS AT AE 91
SME-8M/SMT-8M

ENIN— ZAYFEUSE - (v Fr—TINODIRE 91
ABP-5-S

IEHEZAYF EREESEHS 91
SMPO-8E

ZAYFI Sy VB2 wFSMPO-8EDEUT o1
SMB-8E

2E—-Ra>hO-35 S HDIRE RS 89
GRLA/GRLZ

D>HYF ARG IMEREAET 1 - T DIER quick star
QS

201604 2>www.festo.jp/catalogue/adn 11




ISO 21287#i#& ADN FESTO
wE) — mt

ADN — 50 |—| 50 |—| A — P - A —| S2

SU-X
B g
ADN

ERSSH

| SUYHHLZXD [mm] |

| 2h0—=% [mm] |
v Rseimial

A Rl

I [tERU

933>

P miREE Y3

PPS mimE S HERI Iy 3>
AMYFRAYIZY b

A EX

NUI->3>

Q EEEL A (AEOYR)

S1 AR ~oOYR

S2 moyR

S20 Ba@Eymay R

K2 Oy RFEimRURSIER

K5 Ov RFcimta U145k

K8 OyREDRER

K10 OvR#E =TI ZEET IV MLIE
S6 et (ERBEESHEmMax. 120°C)
S10 {RIR (AR

S11 {REEETAR

R3 il R AR

R8 BhEE(tAR (ZXRTA)V)

TL L—H - -8R

TT (R

12 =2>www.festo.jp/catalogue/adn 201604



ISO 21287##& ADN FESTO

B8 — FI-hT—4
% Be JWUI-23>3
P: EEIYIA>

(L=

PPS : BRI IvIa>

=

-O- 2842
d12~125

AkO0-%2
1~500mm

www.festo.jp

EARMER
SUSHYAZ o |12 Ji6 |20 |25 |32 |40 |so |63 |so  |100 |125
FRERREP TR EXb>
Oyk
SSAF1-T
% He £ #
LN
P BEEILIYSaY
PPS - EEEEES 9, E
3> ANO-7
PPS [mm] |- E 135 |4 5 6 |7 75 10 [-
(AT=(y IEEZRAYF
B3 7534 BUF7% (YorybRILR)
IR0 (YrybRILe)
BfI&E
BT &R T =
@& & - \UI—>3>
SUSIHAZ o |12 16 20 25 132 |40
T 7iEsR— M2
St M5 M5 M5 M5 G1/8 G1/8
s1 - - - M5 - M5
Oy RFeimRUE (R)
Taeot M3 M4 M6 M6 M8 M8
K5 - - M5 M5 M6 M6
s1 - - - M6 - M10
K5-S1 - - - M5 - M8
OvRsEmRLE (L)
Taeot M5 M6 M8 M8 M10x1.25 M10x1.25
K5 M6 M8 M10, M10x1.25| M10, M10x1.25 | M10, M12 M10, M12
s1 - - - M8 - M12x1.25
K5-S1 - - - M10, M10x1.25 | - M10x1.25, M12
Oy RoRUNAEERXR/\YIZv>1 [°]
Q 2 1.8 1.6 1.6 1.2 1.2

201604 2>www.festo.jp/catalogue/adn 13



ISO 21287#i#& ADN FESTO
B — FIOZhIT—4
it & - \VI->3>
SUSHHAZ ® |50 163 180 1100 1125
T PIEHUR— MR
St G1/8 G1/8 G1/8 G1/8 Gl1/4
S1 - G1/8 - G1/8 -
Oy RFEIRRQUE (tERL)
TEst M10 M10 M12 M12 M16
K5 M8 M8 M10 M10 -
s1 - M12 - M16 -
K5-S1 - M10 - - -
Oy RFEIRRQUE (#ERL)
TEst M12x1.25 M12x1.25 M16x1.5 M16x1.5 M20x1.5
K5 M12, M16 M12, M16 M16, M20 M16, M20, M20x1.5 M20
s1 - M16x1.5 - M20x1.5 -
K5-S1 - M12x1.25, M16| - M16x1.5, M20 -
Oy RORUNAEERK/\YI5vS 1 [°]
Q 1 1 0.8 0.8 0.8
ENESRMFLIERRIR
SSHHAZ © |12 J16 |20 l25 32 |40 |50 |63 |80  [100 |125
VEEDTRAK FEfEZES (BHEY3X : 1S0 8573-1:2010 [7:4:4])
WeHFrEEss (EhomaERHEH)
{EFRENEE [MPa]
Tast 0.1~1.0 0.06~1.0
PPS - 0.15~1.0 [0.1~1.0 [-
Q 0.13~1.0 0.1~1.0 0.08~1.0 0.06~1.0
s1 - [0.1~1.0] - 10.1~1.0[ - 0.1~1.0[ - [0.1~1.0[ -
S2, 520 0.15~1.0{0.13~1.0/ 0.12~1.0 0.1~1.0 0.08~1.0
S6 0.1~1.0 0.06~1.0
s11 0.045~1.0 10.025~1.0
RS, TT - 10.15~1.0 10.1~1.0 -
FERABRBERED [C]
Tt -20~+80
S6 0~+120
R3 -20~+80
TT - -40~+80 -
CRCYFR?
- 2
R3 3
ATEX SREE91T > www.festo.com
1) ZAyFERRKFERMYFOERRESHECHIROE
2) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : HIZENRE. ENEA THENRE I HOFRENRE. AEAKCHININIDOSRCEFRNDREWIENEREN D,
CRC3 : BENMRE, BHATOEAOZEEHEEORREF TRENLE, AERAKICIHEN3SMEIOEPREE CHRENAREMUIEZE RN,
14 =2>www.festo.jp/catalogue/adn 201604




ISO 21287##& ADN FESTO

#/E — FI"HhILT-4

WAINIEHFBEEIRINF—[I]
SUSHYAZ ® (12 l16 |20 |25 |32 140 |50 163 |80 1100|125
HUAEESRHESD (EREF0.6MPa)
TRt 68 121 [188 [205 [483 [754 [1178 [1870 [3016 [4712 [7363
s1 - - - 295 |- 754 |- 1870 |- 4712 |-
S2 51 90 141 [247 [415 686 [1057 [1750 2827 |4524 [7069
5|EAIEHESN (EAKES0.6MPa)
DL 51 90 141 [247 [415 686 [1057 [1750 2827 [4524 [7069
s1 - - - 247 |- 633 |- 1681 |- 4417 |-
S2 51 90 141 [247 |415 686 [1057 [1750 2827 |4524 [7069
IR AIBNADSFAEZE TR+ —
Tt 0.07 |0.15 0.2 0.3 0.4 0.7 1 1.3 1.8 2.5 3.3
s1 - - - 0.3 - 0.7 - 1.3 - 2.5 -
S6 0.035 |0.075 |0.1 0.15 |0.2 0.35 0.5 0.65 0.9 1.25 |1.75
K10 - - 0.16 |0.24 |0.32 |0.56 |0.8 1 1.4 2 2.6
S20 - 0.016 |0.024 |0.083 |0.15 |0.39 |0.48 |0.62 |0.8 0.9 0.95
B ) 2 X Everm Vperm. §¢§?§i¥Ef§
R FEEREE Vpern. e+ Miowd Eperm.  FPEVEZETRILF—
TTCTRETRAMEERLT Maead  PIENEREIE
VET, Mioad ﬁ'f}]ﬁ'fﬂgi
HNEETRIE—(CBICTES e et .
DLF‘\G{EIXI?)H: s = HEEanEa Mioad = ZX—Epem‘— Mdead
(a=1AN %
o BALRNE—ZREEN
"ETER SSHYAZ o |20 25 32 |40 50 |63 |80 100
HoREEKIYIv>3> (PPS) B fEERIv3> (PPS) 0.65 (0.8 |1 1.7 2.8 |48 |8 12
DZE. FEEEIRNF-H
WOEIUSACHDOTVET,
J—-9E ETOIERMX[MmM]IFOFSHERIEFq[N]
®12~63 ®80~125
52 160
48 \ 150 s
\
A — o 1 =
‘o ‘\ X 120 \'| X
36 ‘-\‘ Fq 110 \ Fq
32 - 100 *
Z| 28 SEIEAN =| %0 N
= \ \ ‘S| 80 \;
W | 24 [ N \\\ | 79 \ . .
20 Y < 60 S ~
\~ \\ \\\ 50 \\ *._\
1 NS Sa e 40 N SR
12 N, \‘\~ N T~ < ~
D A i e S e 20 T~k
4 N S i 10 T
0 ¢}
0 20 40 60 80 100 120 140 0 20 40 60 80 100 120 140
x [mm] x [mm]
o2 aaa-- ®80, 100
-------- - 016 ———-— D125
——— 020
ceemeeeeeas »25
—_— ®32, 40
———— ®50, 63

201604 2>www.festo.jp/catalogue/adn 15




ISO 21287#ii& ADN

#/E — FI"hILT-4

7—hEREal tDT—JELFTOEREX[Mm]BFOFFEHRFEEFq[N]
Q: EERLX (AEOYR)

12
6
5 \ | M 2
N 1£ LI
4 AN If —— Fa
= | N
=
ol 3
[T
2
1
0
10 20 30 40 50 60 70 80 90 100
X [mm]
a =5mm
-------- - a=10mm
————a=15mm
R a =20mm
—_———— a = 25mm
——————— a = 30mm
20, 25
16
14 T m
N 1] 4L
N\ L S
Lo > \ X
Z
o
L

0
10 20 30 40 50 60 70 80 90 100
X [mm]
a =5mm

-------- —a=10mm
————a=15mm
EXTTEEEEEEE a =20mm
—_———— a = 25mm
——————— a = 30mm
SEC X R

o OYRICHDNB MDY SR I BZBRRVESELREL TLIZE 0,

16 =2>www.festo.jp/catalogue/adn

FESTO

o016
9
8
7
6
zl s
O
| 4
3
2
1
0
10 200 30 40 50 60 70 80 90 100
X [mm]
a =5mm
-------- - a=10mm
————a=15mm
EXTTEEEEEEE a = 20mm
—_———— a = 25mm
——————— a = 30mm
®32, 40
16
14 ‘\ ml jmn| J
S 1£ o
12 S
\\ If - Fq

Fg [N]

2
0
10 20 30 40 50 60 70 80 90 100
X [mm]
-------- —a=10mm
[ a =20mm
——————— a = 30mm
————— a = 40mm
~ee—-e— a=50mm
—————— a = 60mm
e a = OBFODMAEEIEEC DV TIEP. 152 S HRTZE0,
201604



ISO 21287##& ADN FESTO

#/E — FI"HhILT-4

P—hEREal tOT—JELFTOERX[Mm]BFOFFEIRFEEFq[N]
Q: EERLZ (AEOYR)

®50, 63 ®80, 100

50 70

45 \ | M J 60 -M | M J

40 1% 1‘£ o \ 1 o

AN L o 50 4N L |

BN “ Faq Y “ Faq
z 30 = 40
g & 30

20

5 20

10

10

5

0 0

0 20 30 40 50 60 70 80 90 100 0 20 30 40 50 60 70 80 90 100

x [mm] x [mm]

100 ~

[N
o
4/—'
=+
a
e

Fa [N]

0
10 20 30 40 50 60 70 80 90 100
X [mm]
- % B
o OYRENMNB ML SIISR I EZ B R RVESBCREL TTEEW, e a = ORFDMIHEREIEE(COVTIEP. 152 TS HA<TZEL,

201604 2>www.festo.jp/catalogue/adn 17



ISO 21287#i#& ADN FESTO
B8 — FU-hT—4
J—J&ELFECOERX[MmM]EOFSHEFEEFqIN]
S1:#AEOvk
1000
500 —]
200N+
1002% «i—JFq
Z 50+ C G-
2 20 Sk =
10 = = —
5 S N
2 \\ P 25
1 ——— 040
0 500 1000 1500 2000 —————— D63
x[mm] - = =— ®100
B &([g]
SSAYAZ o |12 16 20 25 32 40 50 63 80 100 |125
HEABRE 77 79 131 |156 |265 |346 |540 |722 |1300 |2154 |2880
ZNO-710mmeihoiNEEs |12 14 21 23 30 37 51 59 79 98 117
DESEASRE 9 15 30 50 60 80 140 180 [400 [570 1080
ZM0—710mmasDORIEEMNEEE | 2 4 6 6 9 9 16 16 25 25 39
# &
T TEIASER
= —
. [
B i
- I
74 S
B
L EAH47, Q RS S6, S10, S11 R3 K10
HIC—
©12~80 TIVETILRA MLIE
100, 125 VUIELROIZAN
Fa1-J TIVZPIRA MLE
Ovk AFILA |$A. FEE/OLSDOE [ ZTILR | PIVETILRA NLE
VAiryNRIL b
®12~16 ZFILA 27 LA -
®20~63 o4 8, BIAI-T1>4 | HoEHR
®80~125 o5 A7 LA HoEH
- Ny RUILA> S RUILA>
RoHS 3t

18

=2>www.festo.jp/catalogue/adn

201604



ISO 21287#ii& ADN

#/E — FI"HhILT-4

SR TEE (BES1D)

FESTO

CADT—%47>0—-R & www.festo.jp

D12~63 ®80~125
PL PL G, a
©32~63 T2 PL | | PL
| 12
(@9~ "©g
@ =4 EE EE
S N
O feeam | |
== M -
— 1 B
@ @A e =
Qe 09 - ks
SE LA
TG BG
E ZA+
7B+
+ = AMN0—-VR2ZINE
Sz BG D1 D5 E EE G J2 J3 LA
H4X (0} [0}
[mm] min. H9 F9 +0.2
12 27.5+03 10.5 2 -
16 17 6 29+03 us 11 3.5
20 35.5+03 2.6
5 19.5 9 . 39,503 12
32 47+03 6
40 26 54,503 s g >
>0 27 12 65.57° G1/8
63 75.5+03 11.5
80 17 12 15 95.5+06 16.5 ' 6
100 21.5 113.5%06 21.5 20 '
125 20 - 134.6%03 G1/4 20 21.15 -
S8 MM PL RT SF T2 TG ZA ZB
H4X (o) PPS
[mm] +0.2 hi3 +0.1 +0.2 +0.3 +1.2 +1.3
12 6 5 16 39.2
16 8 6 M4 7 18 3 39.7 )
20 22 37 42.5 42.5
1 M 2.1
25 0 > E 26 39 44.5 45.3
32 32.5 44 50 50.6
40 12 M6 10 38 45 51.1 51.7
50 16 8.2 M8 13 46.5 52.7 53.2
63 56.5 49 56.5 57
80 2.6 72 54 62.9 63.4
100 20 105 M10 17 89 67 76 76.8
125 25 ' M12 21 110 81 92 -
201604 2>www.festo.jp/catalogue/adn 19




ISO 21287#ii& ADN

#/E — FI"hILT-4

SrcTEE (FNUI-23Y)
BEAR94T

4
57
-/

KK

D9

WH
A ZB+
S2 : @moyk
X
X
i‘ -/ -/
WH WH+
A ZM++ A
S20 : @y dmaoy Rk
1
NN —
¥ al | s
-/
LS
WH WH+
A ZM++ A

K2 : OyRSEIRRURSER

KK

WH
A1 A ZB+

K5 : Oy RSeimCEREA

KK5

WH
A ZB+

20 =2>www.festo.jp/catalogue/adn

D8

FESTO

CADT—%47>0—-R & www.festo.jp

AF
T4
w
¥4
WH
ZB+
AF AF
T4 | T4
Z
WH WH+
ZM++
E- F B

S2, S200184. TRAIGRLH
EESNET.

AF5
T3

KFS

WH
ZB+

SeiFyh (DIN 439-B)
032U L OB EE

+ = AMO-IRSZNE

ety (DIN 439-B)
032U L OB EIE

+ = ANI—HE&ENE
++ = ANI—IE&x2&NNE

SeimFwh (DIN 439-B)
O32LL E(EDH 1B E

+ = 20—V R2%ZINE
++ = AMO0-VE&Sx2=NE

Seimwh (DIN 439-B)
®32LL_ECOH1ERE

+ = AMI-IRSZNE

+ = 2MN0—/E&%INE

201604



ISO 21287#ii& ADN

B8 - FI-HhILT-4

SrcTEE (FNUI-23Y)

K8 : OYyRHTAIER

KK

AF

T4

FESTO

CADT—447>0—-R & www.festo.jp

x =

S2, 200184, K EIO
SEEXNET,

Sei%Fyh (DIN 439-B)

O32B E(CDH1ESE
wH | A2 wH | A2
A (A2+ZB) + (A2+ZB) + + = ANV R2ENNE
RS : BHEEMAR (WZXRNTAN) /TT : IKB(LAR
_ AR
T4
x’L )
[es] m
¥7 H LXL /
SeiFyh (DIN 439-B)
" s D32 EICOH LB
WH | WH|
A 7B+ 7B+ + = ANV R2ENNE
V) A Al A2 AF AF5 B D7 D8 D9 L5 KF KF5 KK
H4X () () ()
[mm] -0.5 min. min.
12 10 |, 10 8 ] ] - - M3 B M5
16 12 10 4.5 3.2 M4 M6
20 1~300
5 16 14 12 18 6 3.8 2 M6 M5 M8
32 h
20 19 1~20 16 14 27 8 4.5 3 M8 M6 [M10x1.25
50 1~400
63 22 16 31 10 6 3.5 M10 M8 |[M12x1.25
20
80
100 28 1~30 1~500 20 35 _ G1/8 8 _ M12 M10 |M16x1.5
125 40 1~40 25 - - G1l/4 11.7 M16 - M20x1.5
V2 KK5 T3 T4 VD WH /B M
H4X PPS R8/TT PPS R8/TT PPS
[mm] +1.3 +1.4 +1.3 +1.2 +1.3 +1.2
12 M6 _ L5 j 4.2 j j 39.2 j 44505
16 M8 ' 4.7 39.7 45,7+05
20 M10x1.25 5.5 42.5 42.5 47.5 49,5+0-5 | 49,5+05
25 M10 2 26 22 25 5.5 10.5 44.5 45.3 49.5 51.5+05 | 51,5+05
32 M10 6 6.5 50 50.6 56.5 57.5+05 | 58.6+0:6
40 M12 26 3.3 6.1 6.6 12.5 51.1 51.7 57.5 58.6%06 | 59,7+07
50 M12 3.3 4.7 7.7 8.2 14.7 52.7 53.2 59.7 62.0%06 | 63,107
63 M16 ’ ’ 6.4 7.5 8 14.6 56.5 57 63.6 65.4+0-6 | 66.5+07
80 M16 8.9 9.4 154 | 62.9 | 63.4 | 69.4 |73.2¢%06|74.3%7
M20x1.5 4.7 6.1
100 M20 9 9.8 15.5 76 76.8 | 82.5 |86.4%06 | 88+07
125 M20 - 7 - 11 - - 92 - - 104.4+06 -
201604 =2>www.festo.jp/catalogue/adn 21




ISO 21287#ii& ADN

#/E — FI"hILT-4

SrcTEE (FNUI-23Y)
Q: EERLX (FAEOYR)

FESTO

CADT—%47>0—-R & www.festo.jp

AF3
T2
7
¢ R = -
./ m
3
WH WH
A ZB+ 7B+
Q-S2 : EERLZA+mm0OvR (FAloHEEOYR)
AF3 AF
T2
7
g
g 3 5 )
-/ ./ m
2
A, ks wH WH+
A ZM++ A ZM++
Q-S20 : Ol 2+ &E@ydmovk (FrAloaEEOYR)
e O\ ©
_ =Rt
s =
LS
WH WH+
A ZM++ A
Q-K2 : @#EL A (AEOYR) +0vRSimRURSER
2
< n
C S E A
S2, S200i5E . mfAln
WH g
ol - RUMERENET.
Q-K5 : E#ELZ (AEOYR) +0OvRIEimAURRFR
) o
< o
WH
A ZB+

22

=2>www.festo.jp/catalogue/adn

SeiFyh (DIN 439-B)
032U L COH1EE

+ = AMO-IRSZNE

ety (DIN 439-B)
032U L OB 1EIE

+ = ANI—VE&%ENE
++ = ANI—IE&x2&NNE

Seifwh (DIN 439-B)
©32L_E(CDH1ERE

+ = 20—V R2%ZINE
++ = 20—V E&Sx2=ZNNE

Seifrwh (DIN 439-B)
®32LU E(EDH 1B E

+ = 20—V ESEME

+ = 2MN0—-/E&%NE

201604



ISO 21287#ii& ADN

#/E — FI"HhIT-4

SrcTEE (FNUI-23Y)
Q-K8 : BEELA (AEOYR) +0OvREPEER

oB1

AF3

T2

KF3

o0B1

FESTO

CADT—447>0—-R & www.festo.jp

xE B

S2, S200E. ARLOY RE

DHERENET .

¢ 5

\ Seimtyh (DIN 439-B)

O32 E(CnH1EfSE

WH| | A2 wil | Az

A (e (A2+ZB) + + = 2AN0—VR3EMNE
SOVZ) A Al A2 AF AF3 B1 D7 D8 D9
H4Z O 0} ®
[mm] -0.5 min. min.
12 10 1~10 8 8 5.5 - -
16 12 10 10 7 4.5 3.2
20 1~300
25 16 14 12 9 6 i 3.8
32 19 1~20 16 14 10 8 4.5
40
50 1~400
63 22 20 16 12 10 6
80 28 1~30 20 20 16 G1/8 8
100 1~500 -
125 40 1~40 25 24 20 G1/4 11.7
V) L5 KF KF3 KK KK5 T2 WH ZB ZM
H4X
[mm] +1.3 +1.2
12 M3 M3 M5 M6 15 4.2 39.2 44,5+0-5
16 M4 M4 M6 M8 ' 4.7 39.7 45,7+05
20 M10x1.25 42.5 49,5+05
25 2 M6 M5 e M10 2 25 44,5 51.5%05
32 6 50 57.5+05
20 3 M8 M6 M10x1.25 M10 2.6 6.1 511 =8.6706
50 8.2 53.2 62.8+06
63 3.5 M10 M8 M12x1.25 M16 3.3 8.1 571 66.60
80 8.9 62.9 73.2+06
100 B M12 M10 M16x1.5 M16 4.7 5 e 86 40
125 M16 M12 M20x1.5 M20 6.1 11 92 104.4+06
201604 =>www.festo.jp/catalogue/adn 23




ISO 21287#ii& ADN

#/E — FI"hILT-4

SrcTEE (FNUI-23Y)
S1: AR~ OYR

FESTO

CADT—%47>0—-R & www.festo.jp

025
PL T2
" —
H = = 12w o T o o1 5
Mm
TG LA PL
E BG
VD
WH ZA+
= + = 20—V Ra&NE
®40~100
T2
=R >@
| |2 o E 1 CE
2
‘LA PL
BG FUBIR— N
VD BlEfR—
WH ZA+
ZB+ + = AN0—VR2ZM&E
Nz B BG D1 E EE 13 LA MM PL
H4X (0] (0] 0}
[mm] 8 min H9
+0.3 -
25 22 15 9 39.5 M5 10 6
40 35 16 54 .5+03 15 5 16 8.2
63 42 12 75.5%03 G1/8 23 20 '
100 55 17 113.5+06 40 25 10.5
Nz RT SF T2 TG VD WH ZA ZB
H4X
[mm] h13 +0.1 +0.2 +1.3 +0.3 +1.2
25 M5 9 21 26 6 11.8 39 50.9
40 M6 13 ) 38 9.5 18 45 62.9
63 M8 17 26 56.5 12 21 49 70.2
100 M10 21 ) 89 15.5 26.5 67 93.5
24 =2>www.festo.jp/catalogue/adn 201604




ISO 21287#ii& ADN

B8 - FI-HhILT-4

SrcTEE (FNUI-23Y)

S1: sAHREZR OYR

a

KK

\/

WH

S1-K2 : sAREZ N Oy R+0y REIRRURSER

KK

WH

A1 A ZB+

S1-K5 : aAREZ b Oy R+0Ov RIEImRACR TR

KKS

AF

T4

FESTO

CADT—%47>0—-R & www.festo.jp

KF

&

WH

ZB+

AFS

13

KFS
\m

SeiFyh (DIN 439-B)
O32U L OB 1EE

+ = AMO-IRSZNE

Sei%Fyh (DIN 439-B)
O32BL EICOHLEME

+ = AMO-IRSZNE

Seimyh (DIN 439-B)

O32 E(CnH1E{SE
WH WH
A_ 7B+ 2B+ + = AMN0—-VREZNN&E
S1-K8 : AR R MOy R+0yRETHIER
AF
| T4
2 %
&2 W s N | I
T T 583k (DIN 439-B)
L] — D32 E(CnH1EfTE
WH A2 WH A2
A (A2+ZB) + (A2+ZB+) + + = AMND—VR&ZINE
V2 A Al A2 AF AF5 KF KF5 KK KK5 T3 T4 WH ZB
H4X
[mm] -0.5 min. | min. +1.3 | +1.2
25 16 1~300 14 12 M6 M5 M8 MIISI);B'ZS 2 2.6 11.8 | 50.9
40 22 | 1~20 16 | M10 | M8 |M12x1.25 M1|8|>;1225 33 | 47 | 18 | 62.9
e 1~400 20
2x1.2
63 28 20 M12 | M10 | M16x1.5 MlM);6 > 4.7 6.1 21 70.2
100 40 1~30 1~500 25 - M16 - M20x1.5 M1|V6|;<é.5 - 7 26.5 | 93.5
201604 2>www.festo.jp/catalogue/adn 25




ISO 21287#ii& ADN

#/E — FI"hILT-4

FESTO

BK7—4 : 2202
# SUSHBAR | ARNO—Y Oy RFEimERL (-1) Oy RSEImHERL (-A)
(0] MIREE V3> (-P) MiREEIY>3> (-P)
[mm] [mm] BeFEFs B K YeEs B K
12 5 536211 ADN-12-5-I-P-A 536204 ADN-12-5-A-P-A
10 536212 ADN-12-10-I-P-A 536205 ADN-12-10-A-P-A
15 536213 ADN-12-15-I-P-A 536206 ADN-12-15-A-P-A
20 536214 ADN-12-20-I-P-A 536207 ADN-12-20-A-P-A
25 536215 ADN-12-25-I-P-A 536208 ADN-12-25-A-P-A
30 536216 ADN-12-30-I-P-A 536209 ADN-12-30-A-P-A
40 536217 ADN-12-40-I-P-A 536210 ADN-12-40-A-P-A
16 5 536226 ADN-16-5-I-P-A 536219 ADN-16-5-A-P-A
10 536227 ADN-16-10-I-P-A 536220 ADN-16-10-A-P-A
15 536228 ADN-16-15-I-P-A 536221 ADN-16-15-A-P-A
20 536229 ADN-16-20-I-P-A 536222 ADN-16-20-A-P-A
25 536230 ADN-16-25-I-P-A 536223 ADN-16-25-A-P-A
30 536231 ADN-16-30-I-P-A 536224 ADN-16-30-A-P-A
40 536232 ADN-16-40-I-P-A 536225 ADN-16-40-A-P-A
50 536341 ADN-16-50-I-P-A 536331 ADN-16-50-A-P-A
20 5 536242 ADN-20-5-I-P-A 536234 ADN-20-5-A-P-A
10 536243 ADN-20-10-I-P-A 536235 ADN-20-10-A-P-A
15 536244 ADN-20-15-I-P-A 536236 ADN-20-15-A-P-A
20 536245 ADN-20-20-I-P-A 536237 ADN-20-20-A-P-A
25 536246 ADN-20-25-I-P-A 536238 ADN-20-25-A-P-A
30 536247 ADN-20-30-I-P-A 536239 ADN-20-30-A-P-A
40 536248 ADN-20-40-I-P-A 536240 ADN-20-40-A-P-A
50 536249 ADN-20-50-I-P-A 536241 ADN-20-50-A-P-A
60 536362 ADN-20-60-I-P-A 536352 ADN-20-60-A-P-A
25 5 536259 ADN-25-5-I-P-A 536251 ADN-25-5-A-P-A
10 536260 ADN-25-10-I-P-A 536252 ADN-25-10-A-P-A
15 536261 ADN-25-15-I-P-A 536253 ADN-25-15-A-P-A
20 536262 ADN-25-20-I-P-A 536254 ADN-25-20-A-P-A
25 536263 ADN-25-25-I-P-A 536255 ADN-25-25-A-P-A
30 536264 ADN-25-30-I-P-A 536256 ADN-25-30-A-P-A
40 536265 ADN-25-40-I-P-A 536257 ADN-25-40-A-P-A
50 536266 ADN-25-50-I-P-A 536258 ADN-25-50-A-P-A
60 536383 ADN-25-60-I-P-A 536373 ADN-25-60-A-P-A
32 5 536278 ADN-32-5-I-P-A 536268 ADN-32-5-A-P-A
10 536279 ADN-32-10-I-P-A 536269 ADN-32-10-A-P-A
15 536280 ADN-32-15-I-P-A 536270 ADN-32-15-A-P-A
20 536281 ADN-32-20-I-P-A 536271 ADN-32-20-A-P-A
25 536282 ADN-32-25-I-P-A 536272 ADN-32-25-A-P-A
30 536283 ADN-32-30-I-P-A 536273 ADN-32-30-A-P-A
40 536284 ADN-32-40-I-P-A 536274 ADN-32-40-A-P-A
50 536285 ADN-32-50-I-P-A 536275 ADN-32-50-A-P-A
60 536286 ADN-32-60-I-P-A 536276 ADN-32-60-A-P-A
80 536287 ADN-32-80-I-P-A 536277 ADN-32-80-A-P-A
26 =2>www.festo.jp/catalogue/adn 201604




ISO 21287#ii& ADN

#/E — FI"HhILT-4

FESTO

BF—4 : 2202
# F SUSHBAR | ANO—Y Oy RFEimERL (-1) Ov RSEImHERL (-A)
(0] MiREE V3> (-P) MiREEIY>3> (-P)
[mm] [mm] BeFEs B K YeFEs B K
40 5 536299 ADN-40-5-I-P-A 536289 ADN-40-5-A-P-A
10 536300 ADN-40-10-I-P-A 536290 ADN-40-10-A-P-A
15 536301 ADN-40-15-I-P-A 536291 ADN-40-15-A-P-A
20 536302 ADN-40-20-I-P-A 536292 ADN-40-20-A-P-A
25 536303 ADN-40-25-I-P-A 536293 ADN-40-25-A-P-A
30 536304 ADN-40-30-I-P-A 536294 ADN-40-30-A-P-A
40 536305 ADN-40-40-I-P-A 536295 ADN-40-40-A-P-A
50 536306 ADN-40-50-I-P-A 536296 ADN-40-50-A-P-A
60 536307 ADN-40-60-I-P-A 536297 ADN-40-60-A-P-A
80 536308 ADN-40-80-I-P-A 536298 ADN-40-80-A-P-A
50 5 536320 ADN-50-5-I-P-A 536310 ADN-50-5-A-P-A
10 536321 ADN-50-10-I-P-A 536311 ADN-50-10-A-P-A
15 536322 ADN-50-15-I-P-A 536312 ADN-50-15-A-P-A
20 536323 ADN-50-20-I-P-A 536313 ADN-50-20-A-P-A
25 536324 ADN-50-25-I-P-A 536314 ADN-50-25-A-P-A
30 536325 ADN-50-30-I-P-A 536315 ADN-50-30-A-P-A
40 536326 ADN-50-40-I-P-A 536316 ADN-50-40-A-P-A
50 536327 ADN-50-50-I-P-A 536317 ADN-50-50-A-P-A
60 536328 ADN-50-60-I-P-A 536318 ADN-50-60-A-P-A
80 536329 ADN-50-80-I-P-A 536319 ADN-50-80-A-P-A
63 10 536342 ADN-63-10-I-P-A 536332 ADN-63-10-A-P-A
15 536343 ADN-63-15-I-P-A 536333 ADN-63-15-A-P-A
20 536344 ADN-63-20-I-P-A 536334 ADN-63-20-A-P-A
25 536345 ADN-63-25-I-P-A 536335 ADN-63-25-A-P-A
30 536346 ADN-63-30-I-P-A 536336 ADN-63-30-A-P-A
40 536347 ADN-63-40-I-P-A 536337 ADN-63-40-A-P-A
50 536348 ADN-63-50-I-P-A 536338 ADN-63-50-A-P-A
60 536349 ADN-63-60-I-P-A 536339 ADN-63-60-A-P-A
80 536350 ADN-63-80-I-P-A 536340 ADN-63-80-A-P-A
80 10 536363 ADN-80-10-I-P-A 536353 ADN-80-10-A-P-A
15 536364 ADN-80-15-I-P-A 536354 ADN-80-15-A-P-A
20 536365 ADN-80-20-I-P-A 536355 ADN-80-20-A-P-A
25 536366 ADN-80-25-I-P-A 536356 ADN-80-25-A-P-A
30 536367 ADN-80-30-I-P-A 536357 ADN-80-30-A-P-A
40 536368 ADN-80-40-I-P-A 536358 ADN-80-40-A-P-A
50 536369 ADN-80-50-I-P-A 536359 ADN-80-50-A-P-A
60 536370 ADN-80-60-I-P-A 536360 ADN-80-60-A-P-A
80 536371 ADN-80-80-I-P-A 536361 ADN-80-80-A-P-A
100 10 536384 ADN-100-10-I-P-A 536374 ADN-100-10-A-P-A
15 536385 ADN-100-15-I-P-A 536375 ADN-100-15-A-P-A
20 536386 ADN-100-20-I-P-A 536376 ADN-100-20-A-P-A
25 536387 ADN-100-25-I-P-A 536377 ADN-100-25-A-P-A
30 536388 ADN-100-30-I-P-A 536378 ADN-100-30-A-P-A
40 536389 ADN-100-40-I-P-A 536379 ADN-100-40-A-P-A
50 536390 ADN-100-50-I-P-A 536380 ADN-100-50-A-P-A
60 536391 ADN-100-60-I-P-A 536381 ADN-100-60-A-P-A
80 536392 ADN-100-80-I-P-A 536382 ADN-100-80-A-P-A
201604 2>www.festo.jp/catalogue/adn 27




ISO 21287#ii& ADN

#/E — FI"hILT-4

FESTO

BK7—4 : 2202
# SUSHBAZR | ARNO—Y Oy RFEimERL (-1) Oy RSEImHERL (-A)
() mimE SRR I7Iv3> (-PPS) mimE SRR Iy 3> (-PPS)
[mm] [mm] BeFEFs B K YeEs B K
20 10 577158 ADN-20-10-I-PPS-A 577166 ADN-20-10-A-PPS-A
15 577159 ADN-20-15-I-PPS-A 577167 ADN-20-15-A-PPS-A
20 577160 ADN-20-20-I-PPS-A 577168 ADN-20-20-A-PPS-A
25 577161 ADN-20-25-I-PPS-A 577169 ADN-20-25-A-PPS-A
30 577162 ADN-20-30-I-PPS-A 577170 ADN-20-30-A-PPS-A
40 577163 ADN-20-40-I-PPS-A 577171 ADN-20-40-A-PPS-A
50 577164 ADN-20-50-I-PPS-A 577172 ADN-20-50-A-PPS-A
60 577165 ADN-20-60-I-PPS-A 577173 ADN-20-60-A-PPS-A
25 10 577174 ADN-25-10-I-PPS-A 577182 ADN-25-10-A-PPS-A
15 577175 ADN-25-15-I-PPS-A 577183 ADN-25-15-A-PPS-A
20 577176 ADN-25-20-I-PPS-A 577184 ADN-25-20-A-PPS-A
25 577177 ADN-25-25-I-PPS-A 577185 ADN-25-25-A-PPS-A
30 577178 ADN-25-30-I-PPS-A 577186 ADN-25-30-A-PPS-A
40 577179 ADN-25-40-I-PPS-A 577187 ADN-25-40-A-PPS-A
50 577180 ADN-25-50-I-PPS-A 577188 ADN-25-50-A-PPS-A
60 577181 ADN-25-60-I-PPS-A 577189 ADN-25-60-A-PPS-A
32 10 572646 ADN-32-10-I-PPS-A 572655 ADN-32-10-A-PPS-A
15 572647 ADN-32-15-I-PPS-A 572656 ADN-32-15-A-PPS-A
20 572648 ADN-32-20-I-PPS-A 572657 ADN-32-20-A-PPS-A
25 572649 ADN-32-25-I-PPS-A 572658 ADN-32-25-A-PPS-A
30 572650 ADN-32-30-I-PPS-A 572659 ADN-32-30-A-PPS-A
40 572651 ADN-32-40-I-PPS-A 572660 ADN-32-40-A-PPS-A
50 572652 ADN-32-50-I-PPS-A 572661 ADN-32-50-A-PPS-A
60 572653 ADN-32-60-I-PPS-A 572662 ADN-32-60-A-PPS-A
80 572654 ADN-32-80-I-PPS-A 572663 ADN-32-80-A-PPS-A
40 10 572664 ADN-40-10-I-PPS-A 572673 ADN-40-10-A-PPS-A
15 572665 ADN-40-15-I-PPS-A 572674 ADN-40-15-A-PPS-A
20 572666 ADN-40-20-I-PPS-A 572675 ADN-40-20-A-PPS-A
25 572667 ADN-40-25-I-PPS-A 572676 ADN-40-25-A-PPS-A
30 572668 ADN-40-30-I-PPS-A 572677 ADN-40-30-A-PPS-A
40 572669 ADN-40-40-I-PPS-A 572678 ADN-40-40-A-PPS-A
50 572670 ADN-40-50-I-PPS-A 572679 ADN-40-50-A-PPS-A
60 572671 ADN-40-60-I-PPS-A 572680 ADN-40-60-A-PPS-A
80 572672 ADN-40-80-I-PPS-A 572681 ADN-40-80-A-PPS-A
50 10 572682 ADN-50-10-I-PPS-A 572691 ADN-50-10-A-PPS-A
15 572683 ADN-50-15-I-PPS-A 572692 ADN-50-15-A-PPS-A
20 572684 ADN-50-20-I-PPS-A 572693 ADN-50-20-A-PPS-A
25 572685 ADN-50-25-I-PPS-A 572694 ADN-50-25-A-PPS-A
30 572686 ADN-50-30-I-PPS-A 572695 ADN-50-30-A-PPS-A
40 572687 ADN-50-40-I-PPS-A 572696 ADN-50-40-A-PPS-A
50 572688 ADN-50-50-I-PPS-A 572697 ADN-50-50-A-PPS-A
60 572689 ADN-50-60-I-PPS-A 572698 ADN-50-60-A-PPS-A
80 572690 ADN-50-80-I-PPS-A 572699 ADN-50-80-A-PPS-A
28 =2>www.festo.jp/catalogue/adn 201604




ISO 21287#ii& ADN

#/E — FI"HhILT-4

BRT—4 : REAMD-2

FESTO

£ g SOFPAZX | ZdO—Y Oy RFcimlERL (-1) Oy R&EiRRERL (-A)

® mimE S NI Iv>3> (-PPS) e S FER Iy 3> (-PPS)

[mm] [mm] HeEs R REERS A

63 10 572700 ADN-63-10-I-PPS-A 572709 ADN-63-10-A-PPS-A
15 572701 ADN-63-15-I-PPS-A 572710 ADN-63-15-A-PPS-A
20 572702 ADN-63-20-I-PPS-A 572711 ADN-63-20-A-PPS-A
25 572703 ADN-63-25-I-PPS-A 572712 ADN-63-25-A-PPS-A
30 572704 ADN-63-30-I-PPS-A 572713 ADN-63-30-A-PPS-A
40 572705 ADN-63-40-I-PPS-A 572714 ADN-63-40-A-PPS-A
50 572706 ADN-63-50-I-PPS-A 572715 ADN-63-50-A-PPS-A
60 572707 ADN-63-60-I-PPS-A 572716 ADN-63-60-A-PPS-A
80 572708 ADN-63-80-I-PPS-A 572717 ADN-63-80-A-PPS-A

80 10 572718 ADN-80-10-I-PPS-A 572727 ADN-80-10-A-PPS-A
15 572719 ADN-80-15-I-PPS-A 572728 ADN-80-15-A-PPS-A
20 572720 ADN-80-20-I-PPS-A 572729 ADN-80-20-A-PPS-A
25 572721 ADN-80-25-I-PPS-A 572730 ADN-80-25-A-PPS-A
30 572722 ADN-80-30-I-PPS-A 572731 ADN-80-30-A-PPS-A
40 572723 ADN-80-40-I-PPS-A 572732 ADN-80-40-A-PPS-A
50 572724 ADN-80-50-I-PPS-A 572733 ADN-80-50-A-PPS-A
60 572725 ADN-80-60-I-PPS-A 572734 ADN-80-60-A-PPS-A
80 572726 ADN-80-80-I-PPS-A 572735 ADN-80-80-A-PPS-A

100 15 577191 ADN-100-15-I-PPS-A 577200 ADN-100-15-A-PPS-A
20 577192 ADN-100-20-I-PPS-A 577201 ADN-100-20-A-PPS-A
25 577193 ADN-100-25-I-PPS-A 577202 ADN-100-25-A-PPS-A
30 577194 ADN-100-30-I-PPS-A 577203 ADN-100-30-A-PPS-A
40 577195 ADN-100-40-I-PPS-A 577204 ADN-100-40-A-PPS-A
50 577196 ADN-100-50-I-PPS-A 577205 ADN-100-50-A-PPS-A
60 577197 ADN-100-60-I-PPS-A 577206 ADN-100-60-A-PPS-A
80 577198 ADN-100-80-I-PPS-A 577207 ADN-100-80-A-PPS-A

201604 =2>www.festo.jp/catalogue/adn 29




ISO 21287#i#& ADN FESTO
BRT—45 - FB)\UI-3>
BI{O—R : EXBKN
SOHPAR o 12 16 20 25 32 40 % |3-R AAI-R
HRES 536203 |536218 |536233 |536250 |536267 536288
e 1SO 21287 BRSNS 18E) ADN ADN
S HIHAZO [mm]| 12 16 120 |25 32 140 -
AbO0-7 [mm]| 1~300 1~400 -
O RSEimRG fERU -A
It#ral -1
Iy HimEEIYS 3> -P
mimE SRR I Iv3> -PPS
V| 2AyF AT RN %= i -A -A
I S20 (E@7HmOyk) Ae]
K2 (OyREimRURSIER) AT
PPS K10 (QyMHETIIARTIIAMUE) b5, S6 (R B, TT (ERMHE) 1
HLURS (BHEEMLAR) BEAT]
B/INARO—-75mm
BIFSE AR
| | |ADN - | - | |- | |- | -[A
30 =2>www.festo.jp/catalogue/adn 201604



ISO 21287#i#%& ADN FESTO
BHT-—5 - FE/NUI-23>
BKI—-R : AT’ 33> 8K
YA Z (o) ‘ 12 ‘ 16 ‘20 ‘25 ‘32 ‘40 & |32-R AHI-R
Ol oyras17 mayR -S2
Bl SmoyR -S20
Z0—7% : 1~300mm | 20-7 : 1~400mm
Oy RFeimRURSIER ERTIRERS
1~10mm | 1~20mm - K2
Oy R5EH s M6 M8 M10x1.25|M10x1.25|M10 M10 -"_"K5
USSR M10 M10 M12 M12
(220 M5 M5 M6 M6
Oy RETHRER ERTIRERSE
1~300mm | 1~400mm -_K8
Oy R44E TIZEETVIVNA NMLIE -K10
SmftAk {EFRBEEFHImax.120°C -S6
MifEENIE MEEEE_E -R3
fizis L—Y—-3-F>2 788 -TL
{RRAR {ERPRESIFE-40~+80C lellz] |-TT
BhEE(TAR HAZRDA)C @ -R8
S2,S520 K10 (OYRHE : 7ILITFILIA MUE) BEARE] R3 TL (L-Y-3-F>788) BARa]
R3 (MERNE) FKARB] R8 (BHEE(LAR) BFAT]
R8 (BhEE(LAR) BSAT] [6] TT,R8 K10 (OYRHE : FILZTILNA NUE) B5AT]
K8 SUSAZ NI+ TTHRERRENE YLD S6 (FiRftAR) B4Rl
BAZAN-IEBIRVNESTERILEL, T R8 (BhEE(LA%) BAT]
K10 K2 (OyREHRURSIER) BART]
K5 (OyRFEIHRUEFER) AR
R3 (HERIE) FAa
R3, R3-K2/-K5/-K8IZl
BRAJYANSF-H1ZERLT
WE9,
BISCEC AR
201604 2>www.festo.jp/catalogue/adn 31



ISO 21287#i#& ADN FESTO

BRT-4 - &1E/\UI-23>

BRI — K : HARR
SUSHHAZ ® [50 63 80 100 125 £ ¢ |3-K AHI-K
HRES 536309 |536330 |536351 |536372 536393
I
e HE 1SO 21287 GRS 158 ADN ADN
S HIHAZO [mm]| 50 63 80 1100 1125 -
Z2h0-4 [mm]| 1~400 1~500 -
Oy RS0 R0 -A
72 -1
Iy WiREEIY 3> -P
WiHE D RER I Iy3 3y - -PPS
V| 29T R Ty A %= i -A -A

I S20 (E@EImOYR) BEAE]
K2 (OyREimRURSIER) AT

PPS K10 (OYRMETIZEETILRANMUE) B, S6 (FRR) &, TT (KRR B
HEURS (BHEE(LAR) BFAA]
B/INARO—-75mm

BISEC A
| | |ADN -1 -1 -1 -1 -lA

32 =2>www.festo.jp/catalogue/adn 201604



ISO 21287#i#%& ADN FESTO
BHT-—5 - FE/NUI-23>
BKI—-R : AT’ 33> 8K
SSIHAZ 50 ‘63 ‘80 ‘ 100 ‘ 125 & # |3-k AHI-R
O] OYvrRHA T mOyR -S2
Bl dmoyR -S20
ZMI=% : 1~400mm | ZkO-% : 1~500mm
Oy RFeimRURSIER ERTIRERS
1~20mm 1~30mm 1~40mm - K2
Ov R&EiH s M12 M12 M16 M16 M20 - _"K5
RURIET M16 M16 M20 M20
M20x1.5 | M20x1.5
[FZe0 M8 M8 M10 M10
Oy RETHRER FERAEERS
1~400mm | 1~500mm -_K8
Oy R#4E VIZEETIVIA NMILE -K10
AhO0-2
2~400mm | 5~400mm |5~500mm
etk {ERREEFImax.120°C -S6
MifE E0IE MEE%E -R3
HEE L—H—-3—F> %8 -TL
{RRER {ERPRESEFE-40~+80°C l6llz] |-TT
BhEEfEAR AZRDA)C [6] -R8
S2,S20 K10 (OYRHFE : ZILZTILA NLE) BT R3 TL (L-Y-Y—-F27#%F) R
R3 (MERAE) BAT] R8 (BHEE(LAR) BFAT]
R8 (BhEE(LAR) BEAH] [6] TT,R8 K10 (OYRHE : 7ILZTIVNA NUE) BFAD]
K8 SUSHZ NI+ TRERRESNEH(ZD S6 (FRfti%) BAn]
BRAZANI-IEBIRVESERIZEL, T R8 (BhEE(LAR) BFAT]
K10 K2 (OyREIHRURSER) FAR]
K5 (OyRIEHHRUREETR) BARE]
R3 (MERNE) FKARD]
-E- xR
R3, R3-K2/-K5/-K8IZ(#
BRAJYANSF-H1ZERLT
WET,
RIS AR
- - - - |- | |- | |- | |- - |
201604 =2>www.festo.jp/catalogue/adn 33



ISO 21287#i#%& ADN FESTO
BRT—4 - S10 (EREAR) , S11 (IREHEEAR)
Fichoom B
YA Z o |12 16 20 25 32 40 & |12-R AHI-R
BRES 536203 536218 536233 536250 |536267 536288
B BE 1SO 21287 BRIULHY 8 ADN ADN
S HIHAZO [mm]| 12 16 120 |25 32 140 -
ZhO-4 [mm]| 1~300 1~400 -
O RSEimRG fERU -A
11l -1
w3 WiREEIYS3> -P -p
ZAYF Ay~ = i -A -A
[O]| Oy RFEIHmRURSIEE Oy RFEimRURSIERER A fERS
1~10mm | 1~20mm -_K2
Ov R&EiH gL M6 M8 M10x1.25|M10x1.25|M10 M10 -"_"K5
UK M10 M10 M12 M12
(e M5 M5 M6 M6
Oy RETHRER EERRERS
1~300mm | 1~400mm - K8
Oy A5 VI ZEETIVNA NMLIE -K10
1R AR (R IB B CENEN'ZZTE -S10
ANO—7&6H
20~300mm | 20~400mm
AR AR {RERFRE P] AE -S11
MifE RIE MEE R _E [6] -R3
HEE L% -TL
1 K2 (QyREIHRURSER) BAD] S10 S11 (REEMHR) BARD]
K8 SUSHRMI-I+HTEERESNEHAZ0 S11 S10 UEEftH) BAA
BRAANI-VEBIRVNEITERLZEN, [6] R3 TL (L-Y-Y-F278%%F) &ARa
K10 K2 (OyRSEIHRURSER) BT
K5 (OYRFEIHRURIR) BARE]
R3 (MHEEAUE) BEAR]
-E- a=m
R3, R3-K2/-K5/-K8IC(&
BRAYJYANSF-H1%HEALT
WEY.
BAEAM
| |ADN|-| |- -| T VO O N ol O O o I o O
34 =2>www.festo.jp/catalogue/adn 201604



ISO 21287##& ADN FESTO

BT -4 - S10 (E&E(TER) |, S11 URERTRR)

BI{O—R
SUSHHAZ ® [50 63 80 100 125 £ |3-K ANI-K
RIES 536309 | 536330 |536351 536372 536393
e HE 1SO 21287 SHHISU>HY 158 ADN ADN
S HIHAZD [mm]| 50 63 80 1100 1125 -
Z2h0-4 [mm]| 1~400 1~500 -
Oy RFeimals #ERG -A
[Te -1
Iy WiREEIY> 3> -P -P
RAYF AT b = 1A -A -A
O] Oy REIHRURIER LERDJFERS
1~20mm 1~30mm 1~40mm - K2
Oy RS R0 M12 M12 M16 M16 M20 —_"K5
U M16 M16 M20 M20
M20x1.5 |M20x1.5
(72 M8 M8 M10 M10
Oy RETEER LERATRERS
1~400mm | 1~500mm - K8
Oy RME PINZEETINA NMLE -K10
Zb0—7&6H
2~400mm |5~400mm | 5~500mm
{RIR{AR {RIRBE I CBVEN R TE -S10
Zh0—7&6H
20~400mm | 20~500mm
(R AR RS BT BE -S11
S BAIE M Em £ [6] -R3
fizaes) L—J -85 -TL
1 K2 (OyRFEIHRURSER) FAE] S10 S11 (REE{4R) BT
K8 I HANI-J+HETERERRSNE A0 S11 S10 (EERfH4%) EARE]
BAZM-IZBARVLSTERLEV, [6] R3 TL (L-Y-Y—F V%) KA

K10 K2 (OYRFEHRURSER) FAE
K5 (OyRSEHHRURESH) KRB
R3 (MHEEAE) BAE]

x B

R3, R3-K2/-K5/-K8IC(&
BamAJYANSF-H1ZERLT
V&9,

EREAM
| | [aDNI-[ | I - N O O O O B O I

201604 2>www.festo.jp/catalogue/adn 35



ISO 21287##& ADN FESTO
BMRT—45 - Q (EEzLR : AROYR)
Fichoom B
SOHPAR o [12 16 20 25 32 40 % |3-R ANI-R
BRES 536203 |536218 | 536233 |536250 | 536267 | 536288
% Be ISO 21287 ERISU>S 1E8) ADN ADN
S HIHAZO [mm]| 12 16 120 |25 32 140 -
Ak0-%2 [mm]| 1~300 1~400 -
O RSEimRG fERU -A
It s -I
w3 WiREEIYS3> -P -p
ZAYF Ay~ = i -A -A
[O] [ElEEL X AROYR -Q -Q
Y NOEEDA @m0y R -S2
Bl oy R -S20
ANO—7&6H
1~200mm 1~300mm
Oy REHRRURESES EERRERS
1~10mm 1~20mm - K2
0Oy R ;2010 M6 M8 M10x1.25|M10x1.25|M10 M10 -"_"K5
RUREIR M10 M10
Oy RETHRER EERRERS
1~300mm 1~400mm -_K8
EmftAR ERREEFMax.120°C -S6
M E0IE MEE R _E -R3
HEE L—H—~—F>J85% -TL
I S20 (B@ESAmOYR) BRE K8 SUSHANI-V+HTTEERRINEHAZ0
K2 (DyRSFESHNRURSIER) BRE BAANO-IEBRBOLSTERIZE,
R3 TL (L-Y-I-F278%) BARa)
R3, R3-K2/-K5/-K8I(c(&
EmAJUANSF-H1&ERLT
V&9,
BISCEE AR
| | [ADN|-[ |- -] I N T T T O Y T = R
36 =2>www.festo.jp/catalogue/adn 2010604



ISO 21287##& ADN FESTO
BHT-4 - Q (LR : BROYR)
BI{O—R
SUSHHAZ o® |50 63 80 100 125 % 4 |J-R ANI-R
HRES 536309 536330 536351 536372 536393
B 1SO 21287 BAIS> S 18E) ADN ADN
S HIHAZD [mm]| 50 63 80 1100 1125 -
AbO0-7 [mm]| 1~400 1~500 -
Oy RSEimRG fERU -A
IRl -1
w3 MimREEIYS 3> -P -p
ZAYFFRRI 2Ry~ = 1A -A -A
[O] El#ELX AROYR -Q -Q
Oykos17 Oy R -S2
EilEsdmay R -S20
ANO—7&6H
1~300mm 1~400mm
Oy RFEimRURSIER EERIRERS
1~20mm 1~30mm 1~40mm - K2
Oy Ry fERU M12 M12 M16 M16 M20 ="_"K5
RUREIR
Oy RESHEER EERRERS
1~400mm | 1~500mm -_K8
=mitAR fERREEFMax.120°C -S6
M E0IE MEZE R _E -R3
fzaey L% -TL
I S20 (E@EAEOYR) BARE] K8 IUMHAMO-I+HTHERRENEHAZD
K2 (OyRSeimnUESER) BRG] BAZNO-VEBABOELSTERIZAN,
R3 TL (L-Y-3-F278E) BARa)
R3, R3-K2/-K5/-K8I(&
BEmAJUZANSF-H1&ERLT
V&9,
BIFSE AR
| | [ADN|-[ |- -| - J-o J-l@ - - - J-[ ][ - [ ]
201604 2>www.festo.jp/catalogue/adn 37



ISO 21287##& ADN FESTO
BRFT—4 - S1 (RABEANOYR)
Fichoom B
SSHHAZ o |25 40 63 100 & 4 |[3-R AAI-R
BRES 536250 536288 536330 536372
- —
% Be ISO 21287 EEIS>AH 188 ADN ADN
DA ZO [mm]| 25 40 163 100 -
Ak0-%2 [mm]|5~300 10~400 10~500 =
O RSEimRG fERU -A
[T -1
w3 MimREEIYS 3> -P -p
ZAYFFARI Ry b = i -A -A
O] OyRSEHRURSLER EETRERSE
1~20mm 1~30mm - K2
0y R #ERU M10x1.25 M10x1.25 M12x1.25 M16x1.5 =" _"K5
RUERIFHR M10 M12 M16 M20
ItERL M5 M8 M10
Oy RETHRER EERRERS
1~300mm | 1~400mm 1~500mm - K8
am ik ERREEFMax.120°C -S6
MR ENIE M &R -S1 -S1
iz L—H—~—F>J8%% -TL
I K2 (DREHRUEIER) BARE K8 U HANI-)+HHEEEEANEIAZD
BAZNI-JABABNSTERETEA,
BISCEC AR
| | [ADN|-[ |- -] -p -la -] -| -| -| -[s1 |- |
38 =2>www.festo.jp/catalogue/adn 201604



95> 1=v M3 ADN-KP FESTO

e — MR
‘ADN—ZO—SO—KP—A—P—A—KZ

-2

8 B

ADN BRI

| SUYIYAZD[mm] |

' AhO—Y[mm] |

5557 1=yh

KP R

Ov kil

A i1l

I [FZeW

933>

P EREESYS A

AMYFRAYIZY b

A EXG

NYI-33>

K2 OvRsEiRRAL ESEE

K5 Ov REIRACEE%

K8 OvRETEEE

TL L—H—7—F28R

201604 =2>www.festo.jp/catalogue/adn 39



935> 1=y Mt ADN-KP

#/E — FI"hILT-4

FESTO

e BE JUI-23>
-O- sz >
®20~100
- | - ZMI-4 - K8
10~500mm
-E- X E
A-OYNICHBWVTIE, ECHIES  CORm(ESafety BEEDHIE
([C2IBNZEIMUUENRVED, SZFTAAOERACEEL TVE
SafetyDFRICESERVERT  Bhs
FtA. BIUENRMEE.
B
SUIHBAZ o |20 25 32 40 50 63 80 100
TI7iEFR— M2 V%) M5 M5 G1/8 G1/8 G1/8 G1/8 G1/8 G1/8
H3>F1-yh | M5 M5 M5 G1/8 G1/8 G1/8 G1/8 G1/8
Oy RFCImIRUE M6 M8 M10 M12
(l#R0) K5 M5 M6 M8 M10
Oy RSEIHRUZ M8 M10x1.25 M12x1.25 M16x1.5
(H#R0) K5 M10, M10x1.25 M10, M12 M12, M16 M16, M20, M20x1.5
TEIvIL A mEEY [mm]| 0.5 0.8
FRERRED R EZbh>
0wk
SSAF1-T
SV BEEIT LIV 3>
(VA=) IRV F
753k By} (Vv RILR)
EfIRC (VoyhRILR)
=
&5 =
H3>TDENIGE 5[
ENESRMFLIERRIE
VEBDITRAR EfEZESR (AEYSR 1 1SO 8573-1:2010 [7:4:4))
AmERGESE (BhoBaEREH)
{EFAE A& [MPa]/0.15~1.0
D35> TORARERRES [MPa]| 0.3
{EREARRED [CC]]-10~+80
CRCHI352R2 2

1) 2y FERRHER(yFOERRERECEEFROCE
2) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : HIZENDRE. ENEA THRENELE T3 HEFRED R, AEARICHINNEOS @RI FHNAREIENEREN D,

40

=2>www.festo.jp/catalogue/adn

201604




95> 1Zy MY ADN-KP FESTO
BEh — FUOZHhIL T4
FREEIRNF—[I]
SHPAR o |20 25 32 40 50 63 80 100
HIRMIBAOFBEZE IR F— 0.2 0.3 0.4 0.7 1 1.3 1.8 2.5
) ) 2 X Eperm Vperm. FEEZRE _E T =
HEEZORE Vperm. = W‘Emld Eperm. SrESEZE TR — E T =R
“ o Maead  TIBNEPEIE TTCTRETRAEERLT
Mioad ByhamEs A 32
I XE FAREEIRIF-(CRETER
B T I erm. .
FEaEEE . Migad = V; — Mgead &L,
# HIN]
SHPAR o |20 25 32 40 50 63 80 100
FRUAERHESD (EFE/0.6MPa) | 188 295 483 754 1178 1870 3016 4712
5| SABERHES (ERES0.6MPa) | 141 247 415 633 990 1682 2721 4418
5> T DEFRFES 350 350 600 1000 1400 2000 5000 5000
VIR BRONT :

CZ(TEE I BEEEFEROEFR
FHTY, COEZBZZL09 RN
TBDIBHET . BBRDENHI S e

LTREWV, /5> T 12y MOy R
[CINBEEICEENHDE/N\Y)
3v>17)—-(CFRDEE A

S AOEAIOITZT0vIID
Bt (BRSO TRE)
TlRE-J74/([C3RDEEEA.

D35> TAZYNEIVIACHIN B
DI EFEBF CRRIRENE T .
TNLUNDIBEFS U THZER

DIBENERIRIF N ZRBZIRVELDIC ENEHIERRMENDDET
J—J&ELFETOIEREX[MmM DO SHEFREFq[N]

70

\

60T K

507 | o
T
o < *<
v 30 N i s ~

20 \'\: ~ 1= = -+ ] ®20

10 Sredm T S - 25

(4] T T ———— @32, 40

20 40 60 80 100 120 140 ERTEELLEEEESS ®50, 63
x [mm] —_——— ®80, 100

B 2[g]
SSAYAZ O |20 25 32 40 50 63 80 100
BEREB= 282 344 503 789 1268 1894 3973 5497
ZNO=710mm&BIZDONEEE | 22 26 29 45 60 68 93 112
nEEEAEE 53 63 100 173 296 368 755 932
ANO=710mmeHIDOE]EEINESE | 6 6 9 16 25 25 39 39
201604 2>www.festo.jp/catalogue/adn 41




95> 1=y M+ ADN-KP FESTO
188 — FUZhILT—4
# &
TSR]

%
e L= IbeA (SR
F1-J TILZT )R A MLIB
Ok 27ILR
Yy NI~ »20~63 | HoE

®80, 100 | &M

- NwE>4a RUILG>, ML

RoHS PO
42 =2>www.festo.jp/catalogue/adn 201604



935> 1=y Mt ADN-KP

#/E — FI"HhILT-4

SR TEE (BES1D)

©20~63
®20, 25

O

»32~63

L

J

E1

D2

FESTO

CADT—%47>0—-R & www.festo.jp

DS

AL bLY ZOH1TTIIEZESDH
| Ee T2 BMTY,
oo
‘ N
Mg' “rg =] &
LA LA
G1 G1
G 86 |
ZA+
4 + = N0V E2EE

®80, 100
PL ‘ PL_, COA1 T TREZEUTOH
\ T
- = . EMTY.
(@97 799 T
; : L@ e ©
wi 2 "_'| W T—AH8 £ E @ ~ i ©
| ran -
1 .
D) : 'IZ ‘
&#@ﬂ__ﬂﬁ@% 7 =
TG LA g
E BG G1 .
H1 G
ZA+
7B+
+ = 2AN0—VR2ZM&E
Nz BG D1 D2 D5 E El EE G G1 H1 J2
H4X () ) )
[mm] min. H9 F9
20 35.5+03 49.8 63
25 19:5 9 20 9 39.5+03 M5 M> 50.6 12 65 2.6
32 26 47+03 56.4 68 6
40 24 54,5+0:3 60.4 89
50 57 30 12 65.5+0:3 G1/8 67.4 15 108 8
63 12 38 75.5%03 G1/8 76.8 120 115
80 17 48 15 95.5+0:6 99 16.5 167 '
100 21.5 113.5%06 99.6 21.5 176 20
V%) LA MM PL PL1 RT SF T2 TG ZA ZB
H4X ()
[mm] +0.2 +0.2 +0.2 h13 +0.2 +0.2 +0.3 +1.2
20 42.8 22 74.8 80.8
25 10 44.6 6 M> 9 21 26 77.6 83.1
32 5 12 49.6 M6 10 ’ 32.5 85.4 91.4
40 16 53.6 13 38 90.4 96.5
50 60.6 8.2 46.5 97.4 105.6
63 20 70 M8 17 26 56.5 110.8 118.9
80 90.7 ' 72 136.5 145.4
100 2.6 25 88.6 10.5 M10 21 89 145.1 154.1
201604 2>www.festo.jp/catalogue/adn 43



935> 1=y Mt ADN-KP

#/E — FI"hILT-4

SrcTEE (FNUI-23Y)
BEAR94T

T
{

WH
A ZB+

K2 : OyREiRRURSER

?

KK

WH
A1l A ZB+

K5 : Oy RSeimRUREFIA

KKS

WH
A ZB+

K8 : OyRHETEILER

E

KK

WH | A2
A (A2+7B) +

44 =2>www.festo.jp/catalogue/adn

AF
T4

KF

WH
ZB+

AF5
13

KFS,

WH
ZB+

AF

T4

WH

A2

(A2+7ZB) +

FESTO

CADT—%47>0—-R & www.festo.jp

st Fvh (DIN 439-B)
O32L F(CoH1ESE

+ = AMO-IRSZNE

ety (DIN 439-B)
032U L OB 1EIE

+ = AMO-IRSZNE

+ = 20—V RSZME

st vk (DIN 439-B)
O32L E(CnH11ESE

+ = AMI-IRSZNE

201604



— o —
95> 1=v M3 ADN-KP FESTO
188 — FUZhILT—4
IV A Al A2 AF AF5 KF KF5
HA4X

[mm] -0.5 min. min.
;2 16 1~300 14 12 M6 M5
32 19 1~20 16 14 M8 M6
40
= 1~400
22 16 M10 M8
63
59 20
100 28 1~30 1~500 20 M12 M10
VL) KK KK5 T3 T4 WH ZB
H4Z
[mm] +1.3 +1.2
20 M10x1.25 80.8
25 M8 M10 2 26 >3 83.1
32 M10 6 91.4
40 M10x1.25 M12 26 3.3 6.1 96.5
50 M12 8.2 105.6
63 M12x1.25 M16 3.3 47 8.1 118.9
80 M16 8.9 145.4
M16x1.5 M20x1.5 4.7 6.1
100 M20 9 154.1
201604 2>www.festo.jp/catalogue/adn 45



93> 1=y M3 ADN-KP FESTO
BRT—45 - FB)\UI-3>
Fidkom Ol
SOHPAR o |20 25 32 40 % |3-R AAI-R
HRES 548206 548207 548208 548209
— - —
e D3> Ty MHEENASERIS >, R—N(F—VISOME ADN ADN
S HIHAZO [mm]| 20 |25 32 140 -
AbO0-7 [mm]| 10~300 10~400 -
H3>T1Zwh HHAAHEL -KP -KP
Oy RSEimRG fERU -A
;2 A1V -1
w3 MimREEIYS 3> -P -p
ZAYFFRRI Ry~ = i -A -A
O] OyREHRURSER EETRERS
1~20mm - K2
0w RSl ;20 M10x1.25 M10x1.25 M10 M10 ="_"K5
RUREKR M10 M10 M12 M12
ii:2A10 M5 M5 M6 M6
Oy RESHRER EERRERS
1~300mm 1~400mm -_K8
iz L—H—~—F>J8%%F -TL
I K2 (OyREHNURSER) BAH
K8  IULHANI-/+HTTHEERREENEYAID
BAZNI-VEBIRVNESTEEIE N,
BISCEC AR
| | |ADN || - | - kP |- | -lp -|A
46 =2>www.festo.jp/catalogue/adn 201604



9557 1=y M3 ADN-KP FESTO
BRT—45 - £B)\UI->3>
BI{O—R
SSHHAR ® |50 63 80 100 % |J-R ANI-R
BRES 548210 548211 548212 548213
B D3> T 1oy MHEENASERIS S S, R—N(F—VISORAE ADN ADN
SSHHAZO [mm]| 50 63 80 1100 -
Ak0-%2 [mm]| 10~400mm 10~500mm -
93>T1yh HHAAHEL -KP -KP
Oy RSEimRG TfERU -A
;7819 -I
Y MimREEIYS 3> -P -p
ZAYFFRRI Ry b = 1A -A -A
O] OyREHRURSER LERATRERS
1~20mm 1~30mm - K2
0Oy R ;201 M12 M12 M16 M16 ="_"K5
RUREKR M16 M16 M20 M20
M20x1.5 M20x1.5
ii:2a1V M8 M8 M10 M10
Oy RESHRER LERATRERS
1~400mm 1~500mm —_K8
fiz2 L—H—<—F>J 81k -TL
I K2 (OyRFEimRURSER) FAD]
K8 U HZNI-7+HTHERRESNEYAZD
BAZNI-VEBIBOLSTEEEE,
BIFSE AR
- | |- | - | |- |
201604 2>www.festo.jp/catalogue/adn 47




I>ROYvY{+ ADN-EL FESTO
wE) - Bk
ADN 20 |—| 100 ELV —| K2

SU-X

% g

ADN HRISUSA

| SUYIY4ZD[mm] |

' AhO—[mm] |

I>ROvI4IiE

ELB Al

ELV LA

ELH Bl

Oy kiRl

A ;2o

I i:7a1y]

933>y

P R

AMYFRAYIRY b

A EX:

NUI->a>

K2 Oy RFEimURSIER

K5 Oy RFcimtd UK

K8 Oy REHRER

TL - -8
48 =2>www.festo.jp/catalogue/adn 201604



I>ROvZ4+ ADN-EL FESTO

#/E — FI"HhILT-4

e BE NUESZEV
[
=== - K2
-O- suvsyax >
®20~100
- | - Zha-7 - K8
10~500mm
- F R
A-OYNICHBWVTIE, ECHIES  CORM(FSafety BIEDHIE
([C2IBNZEIMUUENRVED, SZTAAOERACEEL TVE
SafetyDFRICESERVERT  Bhs
FtA. BIIUENRMEE.
B
SUIHHAZ o |20 25 32 40 50 63 80 100
T7iER— M2 M5 M5 G1/8 G1/8 G1/8 G1/8 G1/8 G1/8
Oy RFCIHIRUE M6 M8 M10 M12
(l#R0) K5 M5 M6 M8 M10
Oy RSEIHRUR M8 M10x1.25 M12x1.25 M16x1.5
(H#RL) K5 M10 M10 M12 M16
I>ROYIEED [mm]|1.3 2.1
T7EIvIABNYIZYS 1
B ED G EXN
0wk
S AFI-T
I ROYIMIE ELB A
ELV FRUA
ELH 5=
BN BEEIT LIV 3>
(IBEARH IEHEEZAYF
B3 EfIR0 (VovhRILR)
BfI&E
BfEsh 1T =
E-ox =
o ERLORUREEI > ROYID o IVRIVIRGITZOENNESE o COIUSHRINBANNIC (Sav)  LEIEOVIERA N HERIEN.
KDODIERITZLETELIN BEOEROE F2MIEsdiE 77Y-X, \vI7, sEIL—F SUSAIRBNTUEVETY) o

ZEELTVET,
ZDIN>H%3R—bD)NLT
(0 —-X R THOASIL
>—)l) TIHERLRWTLEZ,
SUSARICEADED. OvIht
HNzTenHEd,

RE) EHAULRWVWTZE,

- NEBDFRIHAIE ICHER(ICELELR
WBENHBDET

- I ROvIHE DR EIZ R 6H T
LESEIEEMEN®DFES (Ov/fAlLD
BRIOF >N —ADEDHNTFHHT

COIBE . FERUAATUESE
HPEDERRE(CRBENDDET,
o HEGUR— MNEIZENBROV TS,
o IOROVIEIZSUSAINIIR
RSAVICRBETBEXNRIC
(B8h(C) HEEELET,

201604 2>www.festo.jp/catalogue/adn 49




95> 1=y M3 ADN-KP FESTO
wBEh — FOZHhILT -4
BMFRMALERREE
SUSHHAZ ® |20 |25 132 140 |50 63 80 100
VEBNFA FE#RZeS. (&35 1 1SO 8573-1:2010 [7:4:4])
femFErEEeh EhomaERHEH)

155 3 E D G [MPa]| 0.25~1.0 10.15~1.0
EREREEY [C] |-20~+80
CRCH5Z? 2
1) ZAyFERKFEA(yFOERARESEECHIROE
2) =Corrosion Resistance Class (Festo standard FN 940070)

CRC2 : FIZENRE. ENEATHENMRLEIZIHEREE. AEAKICRINMEIOMRICE P MO BREAIENEREND.
# HIN]
SUSIHAZ ® |20 25 32 40 50 63 80 100
HURBERHEN (FEFREH0.6MPa) | 188 295 483 754 1178 1870 3016 4712
SIEREERMES (EREH0.6MPa) | 141 247 415 686 1057 1750 2827 4524
BEROIRIT ) 250 500 2000 5000
B4 GEED

: ELE ®32TRTHBL
CECFE

= &2 wE (L@
SDADYA X RDHBBRICIE

J-J8E&E=44 kg
EARNICERIORIHENICEE  F=m x g=44 kg x 9.81 m/s?
L T50%% BTUVIES =431.6 N
HERLET,

FHEIC&D :

BRI YA XZETE

HFEEEIRNF—[I]

fEREF10.6MPaliF DIEsRHESI=483 N

HERHEND50%=241.5 N

O320FFHIRIFI =500 N

J-J0OE=Eh44kg (431.6 N) DIFE. FRURIFHEL TIETEEEHE
20 (max.500 N) TH3N SUZADHEFELTIEBI%ITELTWS

ER
COEET TOIITHA X (EO40NE) THD

SSAHAYAR O |20 25 32 40 50 63 80 100
HIRIBAOTFBEZEIRIF— 0.2 0.3 0.4 0.7 1 1.3 1.8 2.5
B i ZXEperm. Vperm. E*éﬁ%%ﬁrﬁ_ _ % _ :I =
FEERERE Vperm. = m Eperm.  FREZEIRIE— s T B
Mdead BIENEPEE ZZICTEFETHRAMEZRLT
Mioad ﬁ?ﬂgﬁ’g% b\gg_o
) DX Eaur BRI —CRICTER
FEEEEE Miad = VE © — Mgead FEEW,
J—J&EHFETOIEREX[MmM ] DFSHEREFQ[N]
70
\
60 N
505 T Mo
— ~, ~
Z 407K ~
o < N
w- 30 i N ~
20 \“\: N~ e Seea ..__\. i _ »20
10 e e e i L - ®25
0 I ———=— ©32, 40
20 40 60 80 100 120 140  eeceeeeen ®50, 63
X [mm] —_— 80, 100
50 =2>www.festo.jp/catalogue/adn 201604




I>kOv%4+ ADN-EL FESTO
8 - FH=hL5—5
g &[g]
SUSHYARX O ‘ 20 25 32 40 50 63 80 100
AT ROYY
EXEE 234 339 518 665 1334 1734 3300 4735
AO=710mm&BIDONNBEBE |22 26 29 38 51 59 79 98
AHEEAES 43 53 85 101 199 248 475 637
AMOI-710mm&IOOEIEENEEE | 6 6 9 9 16 16 25 25
HUAIT> ROYY
EXEE 177 248 387 498 922 1228 2296 3448
ARO=710mm&BIDONNEEE |22 26 29 38 51 59 79 98
OEEEARES 35 46 75 98 175 225 464 626
AMI-710mm&LOOEIEENEEE | 6 6 9 9 16 16 25 25
5IEAIT> ROYY
BERES 181 252 380 505 920 1217 2233 3409
AbO=710mm&HIOOMEEE |22 26 29 38 51 59 79 98
BEEEARES 37 45 73 89 168 217 413 582
AMI-710mm&IOOEIEENEESE | 6 6 9 9 16 16 25 25
HN = PV A MLIE
Fa1-J PIVZTIRA MLIE
oyR AT
Iy Lk ®20~63 |HoOEHH

®80, 100 |HoEiH
- vk R AUILE>, ZRIL

RoHS POy

201604 2>www.festo.jp/catalogue/adn 51




I>ROYI4T ADN-EL FESTO
W8 — FI-hLF—F

NAcTER (BERY1D) CADT—%47>0-R & www.festo.jp
ELB : AT ROyY
®20~63
®20, 25 ®32~63 PL PL
SF I2
@ RESVZ
~ o
Slw 5 = @ =
|:| e T L = {} NS _
== L x
©. & | :
&4 > |
a ]
D2 LA LA
TG BG Il Ls
E L4 BG
G G
ZA+
2B+ + = 2AMNI-/Ra&ME
®80, 100
PL PL
SF T2
(A
@@ @M
] - - o
__ o = w s | Lé,
J —al— T O
A R =
& & Bl
e, 09 — — 1 J=¢
{ | L |
D2 LA
TG BG BG
E L4 LS
G G
ZA+
ZB+ + = AMO-IESENE
ELV : #RUAIT> ROvy ELH : BIZAIT> ROvY
PL PL1 PL1 PL
o g 04
O O
| I |
L4 LS
G G1 G1 G
ZA+ ZA+
ZB+ ZB+

+ = 2MN0—-/E&%INE

52 =2>www.festo.jp/catalogue/adn 201604



I>ROvZ4+ ADN-EL FESTO
WE) — FI-HLF—F

SUVZ BG D1 D2 D5 E EE G G1 H1 J2 L4 L5
HA4X min. 0} 0} 0}

[mm] H9 F9

20 9 35.5+03 25 45.5 18.5 12.5
25 18 9 9 39.5+03 is 29.5 12 53.3 26 20.8 14
32 13 47+03 33 58 6 225 15
40 54,5+03 15 61.8 8 '

50 65.5+03 77 20.5
63 . 5 20 12 5 5+03 G1/8 43 82 s 27.5 217
80 30 15 95.5+0:6 55 16.5 103.5 ' 34 25
100 113.5+06 57 21.5 113.5 20 35 27
SUVZ LA MM PL PL1 RT SF T2 TG ZA ZB
H4X [0} +0.3 +1.2
[mm] | +0.2 h13 +0.1 | 0.2 ELB |ELV, ELH| ELB |ELV, ELH
20 22 63 50 68.8 55.5
25 10 6 6 M> ° 21 26 74 56.5 79.5 62
32 ' 32.5 80 62 86 68
40 > 12 16 M6 10 38 81 63 87.1 69
50 8.2 46.5 101 73 109.2 81.2
63 16 21 M8 13 26 56.5 105 77 113.1 85.1
80 ' 72 131 92.5 139.9 101.4
100 26 20 28 10.5 M10 17 89 138 102.5 147 111.5

201604 2>www.festo.jp/catalogue/adn 53




I>kOv%4+ ADN-EL

#/E — FI"hILT-4

SrcTEE (FNUI-23Y)

BEARI1T

T

%

WH

ZB+

K2 : OyREiRRURSER

?

KK

A1l

WH

ZB+

K5 : Oy RSeimRUREFIA

KKS

WH

ZB+

K8 : OyRHETEILER

E

KK

WH

A2

(A2+7B) +

54

=2>www.festo.jp/catalogue/adn

AF
T4

KF

WH
ZB+

AF5
T3

KFS

WH

ZB+

AF
T4

WH A2
(A2+7ZB) +

FESTO

CADT—%47>0—-R & www.festo.jp

st Fvh (DIN 439-B)
O32L F(CoH1ESE

+ = AMO-IRSZNE

ety (DIN 439-B)
032U L OB 1EIE

+ = AMO-IRSZNE

+ = 20—V RSZME

st vk (DIN 439-B)
O32L E(CnH11ESE

+ = AMI-IRSZNE

201604



\ AN
I>ROYZI4+ ADN-EL FESTO
188 — FUZhILT—4
SOVE A Al A2 AF AF5 KF KF5
HA4X
[mm] -0.5 min. min.
20 16 1~300 14 12 M6 M5
25
32 19 1~20 16 14 M8 M6
40
o 1~400
22 16 M10 M8
63
o 20
100 28 1~30 1~500 20 M12 M10
SOV KK KK5 T3 T4 WH ZB
HA4X +1.2
[mm] +1.3 ELB ELV, ELH
20 M10x1.25 68.8 55.5
25 M8 M10 2 26 >3 79.5 62
32 M10 6 86 68
M10x1.25 2.6 3.3
40 X M12 6.1 87.1 69
50 M12 8.2 109.2 81.2
M12x1.25 3.3 4.7
63 X M16 8.1 113.1 85.1
80 M16 8.9 139.9 101.4
M16x1.5 M20x1.5 4.7 6.1
100 M20 9 147 111.5
201604 2>www.festo.jp/catalogue/adn 55



I>ROYvY{+ ADN-EL FESTO
BRT—45 - FB)\UI-3>
Fichoom B
SOHPAR o (20 25 32 40 % |3-R AAI-R
HRES 548214 548215 548216 548217
— - —
e I ROYIASEBIESE RIS A , IR—NF—VISORS ADN ADN
S HIHAZO [mm]| 20 |25 32 140 -
AbO0-7 [mm]| 10~300 10~400 =
I>ROYIIE A —-ELB
LA —-ELV
5|l —-ELH
Oy RFgimal #ERU -A
Il =
w3 WiREEIYS 3> -P -p
ZAYF Y2y~ = i@ -A -A
O] OyREHRURSER LERATRERS
1~20mm - K2
Ov R5Eiim ;20 M10x1.25 M10x1.25 M10 M10 ="_"K5
RURER M10 M10 M12 M12
ii:7819 M5 M5 M6 M6
Oy RESHEER LERATRERS
1~300mm 1~400mm -_K8
FAHR L—5——F>J#4R -TL
1 K2 (OyRFEIHRURSER) FAE
K8 U AHZNO-7+HTEERRSNEHAZD
BAZNO-7EBABVSS TR,
B
| | |ADN || - | - | |- | -lp -|A
56 =2>www.festo.jp/catalogue/adn 201604



I>ROYvY{+ ADN-EL FESTO
BRT—45 - £B)\UI->3>
Fidkom Bl
H4X 50 63 80 100 & 4 |[O-R ANI-R
BRES 548218 548219 548220 548221
B I ROVIAHEENASERIS >SS, R—N(F—VISOMAE ADN ADN
SSHHAZO [mm]| 50 |63 80 1100 -
AbO0-7 [mm]|10~400 10~500 -
I>ROvIfIE A —-ELB
LA —-ELV
5|l —-ELH
Oy RSEimRG TfERU -A
It#ral -I
w3 WimEEIYS 3> -P -p
ZAYF Yy~ = 1@ -A -A
O] OyREHRURSER EEPRERS
1~20mm 1~30mm - K2
0Oy R R M12 M12 M16 M16 ="_"K5
RURER M16 M16 M20 M20
M20x1.5 M20x1.5
ItERL M8 M8 M10 M10
Oy RESHEER EERRERS
1~400mm 1~500mm -_K8
fiz L—H—<—F>7J81R -TL
1 K2 (OyRFEIHRURSER) FAE
K8 SUMHZNI-J+ETHEERENEY(ZD
BAZNI-VEBABVESTERIZE,
BISCEC AR
201604 2>www.festo.jp/catalogue/adn 57



ISO 21287#i#& AEN FESTO

HE) - 2K
AEN |—| 50 |[-[ 25 |-[ A |- P |- A |-[ Qq
SY-Z
H
AEN LD
| SUYHHLZXD [mm] |
| 2h0—=% [mm] |
Oy R5EiwRRL
A i#ERU
I ;78\
793>
P | EREE Y3
AAYFRAYIRY b
A EX
NUI-33Y
z 2T Fy3a
Q EEEL 2 (FEOYK)
K2 OvREHRUREIER
K5 Ov RIEIRRUR
K8 Oy RESTHEIES
K10 OYRME = 7IL=ZEE7ILNA MR
S6 mmitik (ERRE&EmMax. 120°C)
TL L—J—I—F>J 4R

58 =2>www.festo.jp/catalogue/adn 201604



ISO 21287 AEN FESTO

HE) — FUZHLT-H

JI-33>
@ S6
K2
|
K5
A Fy2a
-O- sz - K8
®12~100
K10
; | - Z2rO0=Y ———
1~25mm
Q
== L
- £ - www.festo.jp
AEN-__-A-P-A-Z
E=¥ Nix: ]
YR o |12 16 |20 25 32 40 50 63 80 100
I7iER— MR M5 |M5 |[M5 [M5 |G1/8 G1/8 G1/8 G1/8 G1/8 |G1/8
Oy RFCIHI R
[F7eM) M3 [mM4 [M6 [Me M8 M8 M10 M10 M12 M12
s M5 |M6 |[M8 [M8 [M10x1.25 |M10x1.25 |M12x1.25 |M12x1.25 |M16x1.5 | M16x1.5
FRERRER SR EXb>
vk
SUVAF1-T
DS AERE BEEILIYZA>
(A=t TABEA(YF
B354 VAN
IR0
BfI&E
B & T =
EMERMLERRIE
SUSHYAZ o |12 16 120 |25 132 140 50 63 80 100
VEEDTRAK EfRZESR (FABY5X : 1SO 85731:2010 [7:4:4])
WEmEEESH (EhoBaSEREH)
{EFREHERHE [MPa]
- 0.15~1.0 0.1~1.0
z 0.17~1.0[0.22~1.0[0.13~1.0 10.07~1.0/0.06~1.0
Q 0.15~1.0 0.1~1.0
{EREFRED [C]
- -20~+80
S6 0~+120
CRCH522 2

1) 2y FERRHERyFOERRERECEEROCE
2) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : FIZENDRE. BANEA THRENMELE I HEFREDRE, AEARICHEINIEOSRCEFRNAREIENEREN D,

201604 2>www.festo.jp/catalogue/aen 59



ISO 21287#§it& AEN FESTO
HE) - FONLF—S
WAINIEFEEEIRINF—[I]
YA Z o |12 |16 120 |25 132 140 |50 163 180 1100
AEN
BUREEs RN (EAEF0.6MPa) | 56 |95 162|259 441 [702  |1098 1783 [2899 [4511
AEN-_-Z (RFU>HTy>a)
BIEAIEERIED (EAEH0.6MPa) | 39 65 115 211 373 634 977 1663 2610 |4323
IR BAOTSEZEIXIE—  0.04 [0.04 [0.04 (008 0.1 0.15 [0.18 [0.28 [0.35 [0.7
B i 2XEperm. Vperm. E?g@j%gg _ % _ :I .
FFEERRE Voem. = % m Eperm. SFEEZEIRIF— -
Mioad ﬁ&}]gﬁgi (AF 3TN
2 xE HFREEIRNF—(CBICTER
B =T 1 erm. o
HEaEEE Migad = V; — Mgead <JZEV,
AMO—=2I[mm]EDAIV>I)DEDH
®12~20 ®25~100
30 200 -
Z 180 Z
. Pz 160 7
.7 -
20 - 140 e -
= A —| 120 4 cor=T
= B e 2 10047 T ®25
L 7L [T ,/" —rd
L7 - 80 P PRI et e ce—com—-- - 932
0T 7 60 =t L=
=LA o T —— —_——— 040
5 2 = e S ®50
0 — o012 OW‘?—:T' _—— 63
0 5 10 15 20 25 ——————-- - @16 0 5 10 15 20 25 —————— ®80
| [mm] —_———— $20 I[fmm] = oo ®100
- = - /I %‘\
IS (GBS E B> & DERD
[FIFAECIOTERDET,
HEE)SUSA(C(F, TEBIROE
FIEMNSRVESECREL T
<IZ&L,
60 =2>www.festo.jp/catalogue/aen 201604




ISO 21287#it& AEN FESTO
BE) — FI=ALT—S
B 2[g]
SUSHYARX O |12 16 20 25 32 40 50 63 80 100
EXEE 77 79 131 156 265 346 540 722 1300 2154
ARO=710mm&BIDONNBEEE |12 14 21 23 30 37 51 59 79 98
AHEEAES 9 15 30 50 60 80 140 180 400 570
ZAO=710mméfzhOaIENEINEEE | 2 4 6 6 9 9 16 16 25 25
# &
BTSN
/h "
== A
E el
. i 15
vl SN
@
HExR94T S6
HN— ®12~80 | 7ILZ7ILRA MR
®100 PIEHAHA
Fai-J 7T IVRA ML
OyR AT
Uy hRL s ®12~16 |ATILR
®20~63 | &HoEi
®80~100 | o
A A% VBI% JyER
RoHS POy
201604 2>www.festo.jp/catalogue/aen 61




ISO 21287#ii& AEN

HE) — 7T

SR TEE (BEI1D)

FESTO

CADT—%47>0—-R & www.festo.jp

RT

®12~63
PL PL
D12 ®12~25 ®32~63 T,
O
=E £ [ 15
I
a LA LA
G
BG
ZA+
ZB+
®80, 100
G G
PL el
T2
’@@"‘ - @\
] — H% O 1
*E wo F =l
:l ]
C A i
é} " 1o
(> @l_ O —
SF
TG
E ZA+
ZB+

62

=2>www.festo.jp/catalogue/aen

+ = 20— RSZME

+ = 20— RSZME

201604



ISO 21287#i#% AEN FESTO
HE) — T hT—-4
SOV BG D1 D5 E EE G ]2 13 LA
UEPe 0] ®
[mm] min. H9 F9 +0.2
12 27.5+03 10.5 2 -
16 17 6 g0 e 11 3.5
20 35.5+03 2.6
>0 19.5 9 . 39 5705 12
32 47+03 6
40 26 54,5+03 15 8 >
50 65.5+03
27 12 G1/8
63 12 75.51 11.5
80 17 15 95.5+0:6 16.5 ' 26
100 21.5 113.5+06 21.5 20 )
V2 MM PL RT SF T2 TG ZA ZB
H4Z 0]
[mm] +0.2 h13 +0.1 +0.2 +0.3 +1.2
12 6 5 16 39.2
16 8 6 M4 7 18 35 39.7
20 22 37 42.5
25 10 M> 9 2.1 26 39 44.5
32 32.5 44 50
40 12 Mé 10 38 45 51.1
50 8.2 46.5 53.2
63 16 M8 13 26 56.5 49 57.1
80 ' 72 54 62.9
100 20 10.5 M10 17 89 67 76
201604 =2>www.festo.jp/catalogue/aen 63




ISO 21287#i#& AEN FESTO

HE) — 7T

SzHER (FNUI->3Y) CADT—447>0—-RK & www.festo.jp
BEAR94T
AF
T4
4 1 O e S |
o v Se%Fvhk (DIN 439-B)
O32B E(CDH1ESE
WH WH
A 7B+ ZB+ + = AMN0—VERSZINE

Z: 27U Ty

AF
T4
¥ 7 seiFvbh (DIN 439-B)
U W O32B E(CDH1ESE
WH+ WH+ + = AN0—VR2ZME
A 7Bt ZB++ ++ = ANO—IRSx2ZNE
K2 : OYRFEIHRURSIER
<
O Seimrwh (DIN 439-B)
032 EICnH 1B
WH
A A 7B+ + = AMNI-VR2ENN&E
K5 : Oy RFCIHRURRTE
AFS
13
£
WH WH
A 7B+ 7B+ + = AMNO0—-YEX&NE
K8 : OYRHETRER
AF
T4
§ 41 S — -1 w
U Seimrwh (DIN 439-B)
O32LU_EICOH 1ES TR
wH | A2 wH| | A2
A (A2+7B) + (A2+ZB) + + = AMNO—-YEX&NNE

64 =2>www.festo.jp/catalogue/aen 201604



ISO 21287#i#% AEN FESTO

g — FI"hIT—4

SOV A Al A2 AF AF5 KF KF5

B4

[mm] -0.5 min. min.

12 10 1~10 8 M3

16 12 1~10 10 ) M4 B

20

5 16 14 12 M6 M5

32 19 1~20 16 14 M8 M6

40 1~25

>0 22 16 M10 M8

63

80 20

100 28 1~30 20 M12 M10

Nz KK KK5 T3 T4 WH ZB

H4Z

[mm] +153 +152

12 M5 M6 _ 15 4.2 39.2

16 M6 M8 ' 4.7 39.7

20 M10x1.25 42.5

5 M8 M10 2 2.6 5.5 44.5

32 M10 6 50

20 M10x1.25 M12 2.6 3.3 6.1 511

50 M12 8.2 53.2

63 M12x1.25 M16 3.3 4.7 81 571

80 i 8.9 62.9
M16x1.5 M20x1.5 4.7 6.1

100 M20 9 76

201604 2>www.festo.jp/catalogue/aen 65



ISO 21287#i#& AEN FESTO

HE) — 7T

SzHER (FNUI->3Y) CADT—447>0—-RK & www.festo.jp
Q: EEELR (AEOYR)
AF3
T2
o
¥ HINEI= S i
O m SeiEFwh (DIN 439-B)
= D32 ECOH1EME
WH WH
A 7B+ ZB+ + = ANV E3ZNNE
Q-Z : EEELR (BREOYR) +XU>F v
AF3
T2
2
¥ = o =7 SeiFwh (DIN 439-B)
m 032 ECOHUENE
X
WH+ WH+ + = AMN0—-VREZNN&E
A ZB++ ZB++ ++ = AMNO—IRSx2%ZNE
Q-K2 : EERLR (AROYR) +0vREHPURSIEER
o
<
O Seifvh (DIN 439-B)
032 EICnFH 1B
WH
Al A ZB+ + = ANV R2ZN&E
Q-K5 : @ELELX (AROYR) +0vRIcimURER
v o
< =]
WH
A 7B+ + = AMNO0—-YEX&NE
Q-K8 : MELLX (AZOYR) +0OvRHTAER
AF3
T2
m w o
o X o
Y =
U Seimryh (DIN 439-B)
032 EICOH1ERR
wH| | A2 whl | Az
A (A2+78B) + " (A2:7B) + I N =]

66 =2>www.festo.jp/catalogue/aen 2010604



ISO 21287#i#% AEN FESTO
g — FI"hIT—4

SOV A Al A2 AF3 B1 KF3
B4 O

[mm] -0.5 min.

16 12 1~10 10 7 M4
20

5 16 12 9 M5
32

20 19 1~20 1~25 14 10 M6
50

63 22 16 12 M8
80

100 28 1~30 20 16 M10
SOVZ) KK KK5 T2 WH ZB
H4Z

[mm] +1.3 +1.2
16 M6 M8 1.5 4.7 39.7
20 M10x1.25 42.5
25 M8 M10 2 >3 44.5
32 6 50
20 M10x1.25 M10 2.6 6.1 c11
50 8.2 53.2
63 M12x1.25 M16 3.3 81 =1
80 8.9 62.9
100 M16x1.5 M16 4.7 9 76
201604 2>www.festo.jp/catalogue/aen 67



ISO 21287#i#& AEN FESTO
BRT-4 - BEN\JI-23>
Fichoom B
SOHPAR 12 16 20 25 32 % |3-R AAI-R
REES 536414 536415 536416 536417 536418
5 —
e ISO 21287 sEEISN>4 EiE) AEN AEN
DAY XD [mm]|12 16 120 |25 132 -
Ak0-%2 [mm]|1~10 1~25 =
O RSEimRG fERU -A
It#ral -I
Jyay MimREEIYS 3> -P -p
ZAYFFARI Ry b = 1A -A -A
[O] EEhn75TE AU Fy2a -Z
Oy RFEimRURSIER LERATRERS
1~10mm 1~20mm - K2
0Oy R #ERU M6 M8 M10x1.25 |M10x1.25 |M10 ="_"K5
RURIFR M10 M10 M12
IR M5 M5 M6
Oy RESHRER EERRERS
1~10mm |1~25mm - _K8
Oy 48 VI ZEERTIVNA NMLIE -K10
EmitAR B REEFMax.120°C -S6
fizy L—H5—<—F>J81R -TL
I K2 (OyRseisUESER) BARa] K8 SUSHRNO— )+ THEERRESNEYAZD
K2, K5 K10 (OYRHE : ZILSTILRA NUE) BARE BAZNOI-VEBRBNESTEBIL,
BISE AR
| | [AEN - | - |- | -[p -[a
68 =2>www.festo.jp/catalogue/aen 201604



ISO 21287##& AEN FESTO
BHT-4 — &8/)\)I-23>
BKI-R
SUSHHAZ o |40 50 63 80 100 & 4 |[O-R ANI-R
BRES 536419 536420 536421 536422 536423
% Be ISO 21287 ERISY>S HF) AEN AEN
SSHHAZO [mm]] 40 150 |63 180 1100 -
AbO0-7 [mm]| 1~25 -
Oy RSEimRG fERU -A
7819 -1
Iy MimREEIYS 3> -P -p
ZAYFFRRI 2Ry~ = 1A -A -A
(O] BE&n75THE AT Fy2a -Z
Oy REmRPURSERS LERATRERS
1~20mm 1~30mm - K2
0Oy R R M10 M12 M12 M16 M16 ="_"K5
RURIFR M12 M16 M16 M20 M20
M20x1.5 M20x1.5
ii:2a1V M6 M8 M8 M10 M10
Oy RESHRER LERATRERS
1~25mm -_K8
Oy RME 7I=EETINA NLE -K10
EmitAR R REEFMax.120°C -S6
fizy L—H—<—F>J81R -TL
I K2 (OyRsEiHRURSIER) BRT K8 SR NI- 7+ TR R REN G YA XD
K2,K5 K10 (OYRHE : 7ILI7LRANME) BRE] BAZNI-VEBIBVESTEREL,
BIFSE AR
- | |- | |- | - | |- | |- | | -| |
201604 =2>www.festo.jp/catalogue/aen 69



ISO 21287#i#& AEN FESTO
BHT-4 - Q (E#LR : BROYR)
Fidkom Ol
SOHPAR 16 20 25 32 % |3-R AAI-R
HRES 536415 536416 536417 536418
e ISO 21287 ERISY>S HF) AEN AEN
DA ZO [mm]| 16 120 |25 132 -
AbO0-7 [mm]| 1~25 -
O RSEimRG fERU -A
IR0 -1
w3 MimREEIYS 3> -P -p
ZAYFFARI Ry b = i -A -A
[O] EEhn75TE AU Fy2a -Z
[E#EL X AROYR -Q -Q
Oy RFEimRURSIER EEPRERS
1~10mm 1~20mm - K2
0w R5Eiim fERU M8 M10x1.25 M10x1.25 M10 ="_"K5
RURKR M10 M10
Oy RESHRER EERRERS
1~25mm -_K8
SomftAk FERREEFImMax.120°C -S6
fizy L—H—<—F>J81R -TL
I K2 (OykseimhUES) BARa K8 SAHZANI-I+HETHEEREENEHAZD
BAZNI-VEBIBRVNESTEEREN,
BISCEE AR
| | |AEN |- | - | - | -[p -[A
70 =2>www.festo.jp/catalogue/aen 201604



ISO 21287#i#% AEN FESTO
BHT-4 — Q (BEEL R : AROYR)
BI{O—R
SUSHHAZ o |40 50 63 80 100 & 4 |[3-R ANI-R
BRES 536419 536420 536421 536422 536423
% Be ISO 21287 ERISY>S HF) AEN AEN
SSHHAZO [mm]] 40 150 |63 180 1100 -
AbO0-7 [mm]| 1~25 -
Oy RSEimRG fERU -A
IRl -1
Iy MimREEIYS 3> -P -p
ZAYFFRRI 2Ry~ = 1A -A -A
[O] EEhn75TE AT Fy2a -Z
[EI#EL X AROYR -Q -Q
Oy RFEimRURSIER EETRERS
1~20mm 1~30mm - K2
Oy R R M10 M12 M12 M16 M16 ="_"K5
RUREHR
OyRESHRER LERATRERS
1~25mm -_K8
SmftAR ERREEFImax.120°C -S6
fizy L—H—<—F>J81R -TL
I K2 (OyRseisURESER) BRa] K8 SUSHRIO— )+ THEERRESNEHAZD
BAZNI-VEBARNESTERIZE,
BisEEAR
- | -[Q - | |- | |- | | -| |- | |
201604 2>www.festo.jp/catalogue/aen 71



ISO 21287#8#% ADNP : RUY—&H/)I\— FESTO

7o) ORIE

R\

~ ) o 1

Sonlellm N
N N s B /@

ST -
| N

QY

Ve o )

72 =2>www.festo.jp/catalogue/adnp 201604



ISO 21287#R#& ADNP : RUY—&H/I\— FESTO

T SO E

BIEBEsLzoftinr7I5y

% B3 > P.FERERET-R

J-rEE AN —(CHEAH T BT EE 79
HNA

J5o3&E8 WA\ —(CHEAHTFETEE 80
FNC

1LILEZ&E Ay RON=(COPHHEHTIBIEE 81
SNCL

2ILILEREE 1ILILEZSNCLAET Sy beUTHIEERIEE 85
SNCB

1LAILEZET 54k LILILEZSNCLAT SN (©12~25) 84
LBN/CRLBN

[6] NILFRSZa>Fyh BIEOIN A EREDRTHEMIIIFRS I IR 83
DPNA

N =1 mHN—(CHEA T BT 86
ZNCF/CRZNG

NSZA>TSHvh NS=A>4&BZNCF/CRZNGAI 347wk 87
LNZG

[o] BREEAZ{I1LILERX Ay RON=(COIHHEHFIBIEE 82
SNCS

1LILEZRT 5oy BREEH{F 1ILILERSNCSAIT 5w b 82
LBG

OyR7A BREEhZ 4 88
SGS/CRSGS

JI5>ShT3 ST ABORUNZMHIE 88
KSG/KSZ

79745 FhZes Oy RICEZE) W REEWDT I BIBEREC 88
AD

211y S A DREEEEN D A BE 88
SG/CRSG

ILEVYHTS S9N, mEE 88
FK

ALEZRT—b OvR74SGSH 89
LQG

2ILFwo)lL Oy RFcimItERCA 88
SGA

IEERAYF ZAAYFEUTECEZBUT T 88 91
SME/SMT-8

IERERAYF ZAAYFEUTECEZBI T 88 91
SME/SMT-8M

BHIN— ZAYFEUSE - RAvFr—T I DIRE 91
ABP-5-S

IEERAYF EREESEHRH 91
SMPO-8E

ZAYF TSN TR A wFSMPO-8EDET 91
SMB-8E

Z2E—-RI>O-5 SV DRE R 89
GRLA/GRLZ

D>AYF IR WEEEF 1T OB quick star
QS

E- % E

I7HEGOR— NMCED I BHFY AL TIZAL,
AE=RI>PO-3CERUNZRL  RUAT—/NTBO TN EDE(ESE
—b (MRUFEEGRU) 0t0z HN-EBHHIEIBIENHDEFET .

201604

=2>www.festo.jp/catalogue/adnp

73




ISO 212873R1& ADNP : RUV—RH)I\— FESTO
B8 - B3R
| ADNP |—[ 20 50 A

Y-

£ B

ADNP  [5@EI>Y

| SUYIYAZD [mm] |

' AhO—% [mm] |

Oy R5EimhU

A HERU

I ii:2A10)

933>y

P EREESYS A

AMYFRAYIRY b

A EXG
74 =2>www.festo.jp/catalogue/adnp 201604



o W\
ISO 21287#i#& ADNP : RUNY—-FhI\—- FESTO
B — FIOZhIT—4
B #e
L ]
EEI— e
L
-O- sugyaz \
®20~50 &ﬂi
N
AkO-% :
5~80mm ADNP-_-A-P-A
£ www.festo.jp N
-
", -
ADNP-_-I-P-A
EARMER
SSAHAYAR O |20 25 32 40 50
T7iEFR— M2 M5 M5 G1/8 G1/8 G1/8
Oy RSEIHRUE R M6 M6 M8 M8 M10
ItERU M8 M8 M10x1.25 M10x1.25 M10x1.25
B ED G ERN>
0wk
SSAF1-T
Dy KRS BEETLIYS 3>
(IBEARH ITHEZAYF
B33 BT (YoyhRILk)
B0 (VoryRive)
BftEE
BT EEL £ B2
EMESRAFELERIRIE
VEEDTRAK EfEZESR (ABY5X : 1SO 8573-1:2010 [7:4:4])
EHFLEEEH (BhoBaREEiEH)
{ERRE & [MPa]|0.06~1.0
FEREAFRED [*C]|-10~+60
CRCHIZA2 2
1) 2y FERIHIR vFOERREHEICEEROIE
2) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : HIEEDRE. BANEATRHENRLEIIHSEETLE. FRARICHEINIABOBRCEFRNLREDUENERIND,
201604 2>www.festo.jp/catalogue/adnp 75



ISO 21287#i1& ADNP : RUV—RH/)\— FESTO
HE — TH-hILT—4
#A[N], FBEEEIRINF—[I]
SUIHHAZ o |20 25 32 40 50
RUARESRESN (FAE/0.6MPa) | 188 295 483 754 1178
5| EAIEEHESD (EFAE/0.6MPa) | 141 247 415 686 1057
RIRAIBADFAEZE TR+ — 0.16 0.24 0.32 0.56 0.80
J—J&ELFTOIEREX[MmM]EEDFSHERIEFq[N]
52 T T T T T T
48
)
4t \ —
\
40 \ .
36 N Fq
\
32 A
| \
E 28 “ \‘\
o 24 k AN
2 5
20 \\\ N
16 A\ . L. s <L
12 \\‘\\\_ 1 Ssa 3=
8 ES N T
4 Nyl 20
0 j —_—— 025
0 20 40 60 80 100 120 140 S ®32, 40
x [mm] ————— ®50
B £([g]
SUIAHHAZ o |20 75 32 40 50
BEXES 115 116 204 240 380
AMO—=710mm&bizhomngsE=s 17 19 24 32 41
nEEEAEE 20 20 45 55 94
ANI=710mmeizDOEIEERINEEE | 2 2 3 3 6
# 8
SR
| | , hIt— ARUZULTER
ﬁ N F1—TJ FASFIA MR
1] Ovk FIEPIRANME (SEitEnCEme >y —N)
P Uy NRILK 5=
&l = i R RUILEG>, NI
£ - 1] RoHS S
’l\
; Do i
- /I q E I/ Eé
76 =2>www.festo.jp/catalogue/adnp 201604




ISO 212873R#& ADNP : RUY—RHI\—

#/E — FI"HhILT-4

SR TEE (BES1D)

FESTO

CADT—%47>0—-R & www.festo.jp

®20~50
®20, 25 ®32~63 PL PL
T e NN
©~ "©
| & .
i E W § Egr E . - = . )I =B
bhoM T Ie I7HFR— NCERDRH I BT
@B ||| @B e —— ZE—RIYMO-3IC@RUAZ R
Ve o\ ‘ .
Ny 'gf_’\z » b (MRUEEEGRL) 0b0%
e . e — ERLTIRRL,
E = RUNT—/INCR2TVWSEDEFESE
DB RIET BTN BET
ZA+
‘ ZB+ + = AMN0—-VREZNN&E
4 | BG D1 EE E G LA MM PL RT SF T2 TG ZA ZB
H4X o) o)
[mm] | min. H9 +0.3 +0.2 hi3 | +0.1 | £0.2 | £0.3 | +1.2
20 M5 35.5 22 37 42.5
25 195 9 M5 39.5 12 10 6 M> 8 26 39 44.5
32 G1/8 47 5 2.1 32.5 44 50
40 26 G1/8 | 54.5 15 12 8.2 M6 10 38 45 51.1
50 27 12 | G1/8 | 65.5 16 M8 13 46.5 53.2
SRR (BNNVI->3Y) CADT—%47>0-R & www.festo.jp
BEAR91T
AF
T4
§ | N
U L Seimrwh (DIN 439-B)
D32 EICOH1EME
WH WH
A 7B+ 7B+ + = AMNI-VR2%=NN&E
S A AF KF KK T4 WH ZB
Y42
[mm] =0.3 min riod) +1.2
20 42.5
1 14 M M 2. .
25 6 6 8 6 >3 44,5
32 6 50
0 19 16 M8 M10x1.25 3.3 o1 sl
50 22 20 M10 M12x1.25 4.7 8.2 53.2
201604 2>www.festo.jp/catalogue/adnp 77




ISO 21287#it& ADNP : RUY—8H/I\—

#/E — FI"hILT-4

FESTO

BKF—4
# SUSHBAZO | ANO—4 Oy RFEimERL Oy RFEimiERL
[mm] [mm] HEmEs B AR HmEs B X
20 5 571971 ADNP-20-5-I-P-A 571926 ADNP-20-5-A-P-A
10 571972 ADNP-20-10-I-P-A 571927 ADNP-20-10-A-P-A
15 571973 ADNP-20-15-I-P-A 571928 ADNP-20-15-A-P-A
20 571974 ADNP-20-20-I-P-A 571929 ADNP-20-20-A-P-A
25 571975 ADNP-20-25-I-P-A 571930 ADNP-20-25-A-P-A
30 571976 ADNP-20-30-I-P-A 571931 ADNP-20-30-A-P-A
40 571977 ADNP-20-40-I-P-A 571932 ADNP-20-40-A-P-A
50 571978 ADNP-20-50-I-P-A 571933 ADNP-20-50-A-P-A
60 571979 ADNP-20-60-I-P-A 571934 ADNP-20-60-A-P-A
25 5 571980 ADNP-25-5-I-P-A 571935 ADNP-25-5-A-P-A
10 571981 ADNP-25-10-I-P-A 571936 ADNP-25-10-A-P-A
15 571982 ADNP-25-15-I-P-A 571937 ADNP-25-15-A-P-A
20 571983 ADNP-25-20-I-P-A 571938 ADNP-25-20-A-P-A
25 571984 ADNP-25-25-I-P-A 571939 ADNP-25-25-A-P-A
30 571985 ADNP-25-30-I-P-A 571940 ADNP-25-30-A-P-A
40 571986 ADNP-25-40-I-P-A 571941 ADNP-25-40-A-P-A
50 571987 ADNP-25-50-I-P-A 571942 ADNP-25-50-A-P-A
60 571988 ADNP-25-60-I-P-A 571943 ADNP-25-60-A-P-A
32 10 571989 ADNP-32-10-I-P-A 571944 ADNP-32-10-A-P-A
15 571990 ADNP-32-15-I-P-A 571945 ADNP-32-15-A-P-A
20 571991 ADNP-32-20-I-P-A 571946 ADNP-32-20-A-P-A
25 571992 ADNP-32-25-I-P-A 571947 ADNP-32-25-A-P-A
30 571993 ADNP-32-30-I-P-A 571948 ADNP-32-30-A-P-A
40 571994 ADNP-32-40-I-P-A 571949 ADNP-32-40-A-P-A
50 571995 ADNP-32-50-I-P-A 571950 ADNP-32-50-A-P-A
60 571996 ADNP-32-60-I-P-A 571951 ADNP-32-60-A-P-A
80 571997 ADNP-32-80-I-P-A 571952 ADNP-32-80-A-P-A
40 10 571998 ADNP-40-10-I-P-A 571953 ADNP-40-10-A-P-A
15 571999 ADNP-40-15-I-P-A 571954 ADNP-40-15-A-P-A
20 572000 ADNP-40-20-I-P-A 571955 ADNP-40-20-A-P-A
25 572001 ADNP-40-25-I-P-A 571956 ADNP-40-25-A-P-A
30 572002 ADNP-40-30-I-P-A 571957 ADNP-40-30-A-P-A
40 572003 ADNP-40-40-I-P-A 571958 ADNP-40-40-A-P-A
50 572004 ADNP-40-50-I-P-A 571959 ADNP-40-50-A-P-A
60 572005 ADNP-40-60-I-P-A 571960 ADNP-40-60-A-P-A
80 572006 ADNP-40-80-I-P-A 571961 ADNP-40-80-A-P-A
50 10 572007 ADNP-50-10-I-P-A 571962 ADNP-50-10-A-P-A
15 572008 ADNP-50-15-I-P-A 571963 ADNP-50-15-A-P-A
20 572009 ADNP-50-20-I-P-A 571964 ADNP-50-20-A-P-A
25 572010 ADNP-50-25-I-P-A 571965 ADNP-50-25-A-P-A
30 572011 ADNP-50-30-I-P-A 571966 ADNP-50-30-A-P-A
40 572012 ADNP-50-40-I-P-A 571967 ADNP-50-40-A-P-A
50 572013 ADNP-50-50-I-P-A 571968 ADNP-50-50-A-P-A
60 572014 ADNP-50-60-I-P-A 571969 ADNP-50-60-A-P-A
80 572015 ADNP-50-80-I-P-A 571970 ADNP-50-80-A-P-A
78 =2>www.festo.jp/catalogue/adnp 201604




BRISULH FESTO
7otH)

J—h&E HNA-_/HNA-_-R3 .

AU AOQ

M & PR
HNA : so&il

HNA-_-R3 : il ({##£1-71>%)

e
ABLUPTFEAR{ER ll y "*-..Li"

ROHSH&

(g
19
L9

<ﬂ I_-I-\Eﬁ\

SA+ || }AB

+ = AMD-IReZNE

SRHEEBRT -4

SV AB AH AO AT AU SA TR us XA
HBAZ )

[mm] H14 JS14 +0.5 +0.2 +0.2 -0.5

12 21 5 16 26 52.2
16 >-8 22 4.75 3 13 61 18 27.5 52.9
20 27 6.95 69 22 34.5 58.7
25 7 29 4 16 71 26 38.5 60.7
32 33.5 7 76 32 46 66.2
40 38 9 18 81 36 54 69.2
50 10 45 87 45 64 74.2
63 50 8 > 21 91 50 75 78.2
80 12 63 10.5 6 26 106 63 63 89
100 14.5 74 12.5 27 121 75 110 103
S | BERIAT R3 : MEES(T

H4X |CRCIZAD |B = HEEs B AR CRCH3ZRY |& =2 HREs B AR

[mm] [g] [g]

12 1 39 537237 HNA-12 3 39 537252 HNA-12-R3

16 1 42 537238 HNA-16 3 42 537253 HNA-16-R3

20 1 84 537239 HNA-20 3 84 537254 HNA-20-R3

25 1 90 537240 HNA-25 3 90 537255 HNA-25-R3

32 1 123 537241 HNA-32 3 123 537256 HNA-32-R3

40 1 157 537242 HNA-40 3 157 537257 HNA-40-R3

50 1 278 537243 HNA-50 3 278 537258 HNA-50-R3

63 1 328 537244 HNA-63 3 328 537259 HNA-63-R3

80 1 634 537249 HNA-80 3 634 537260 HNA-80-R3

100 1 814 537250 HNA-100 |3 814 537261 HNA-100-R3

1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC1 : BEDRE, LRUEAERFEENERE (0)(-TEONTLSER®. HEINSBRTERVMERR, FREREAERICINE-TVSEBRICERENS) .
CRC3 : BEMRE. EHNTOEAOSEEFEEOBEMLF TRETLE, BEAKICHINSIEIOEPREE (AN RRMUIEEEREN 2,

201604 2>www.festo.jp/catalogue/adn 79




BRISULH FESTO
78y
I52I@R FNC-_ ®32~125 ®12~25
ZF+ FB. | FB
#oE: e — — =
B»oE4 L] g o ©
B LUPTFEAMER ‘ @ @ @ @
ROHSHI ® o (Y Ly O lels
E . = \ ,/ =5 @\ / @ S
| | tel | e 9, 7
! |l | Lo © 2
" ]! M - R E
: + = ANI-VESENE =
SR TEERIRT -5
Nz E FB MF R TF UF ZF CRCY B = HEEs B A
H4Z ()
[mm] £1 [g]
12 28 55 40 50 47.2 |1 79 537245 FNC-12
16 29 ' 8 _ 43 55 479 |1 88 537246 FNC-16
20 36 6.6 55 70 50.7 |1 141 537247 FNC-20
25 40 60 76 52.7 |1 165 537248 FNC-25
32 45 7 10 32 64 80 60.2 |1 221 174376 FNC-32
40 54 36 72 90 61.2 |1 291 174377 FNC-40
50 65 9 12 45 90 110 65.2 |1 536 174378 FNC-50
63 75 50 100 120 69.2 |1 679 174379 FNC-63
80 93 12 16 63 126 150 79 1 1495 174380 FNC-80
100 110 14 75 150 175 92 1 2041 174381 FNC-100
125 132 16 20 90 180 210 112 1 3775 174382 FNC-125
1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC1 : BEDRE, RUEAERFEENE RE (0)(-TEONTLSER®. SIS BR TERVMERR, FREREAZRICINE-TVSEBRICERENS) .
80 =2>www.festo.jp/catalogue/adn 201604



BRISULH FESTO
7otH)

1ILIVEA&EE SNCL-_/SNCL-_R3

—
%

&

SNCL-_ : ZILZH4HA N l j. I. 1

s
|
cD

SNCL-_-R3:

FIVEAANAN (RED—F1>%)
ABLUPTFERER -
RoHSHi& '

-

FL

XC+
+ = A0 RSZNME

SRHEERRT -4

SV CD EW FL L MR XC

HBAZ o)

[mm] H9 +0.2

12 6 12n12 16 10 6 gg;

;g 8 16h12 20 14 8 2‘21:;

32 10 26352 22 13 10 72.2

40 28382 25 75.2

50 12 32:52 27 16 12 80.2

63 40342 32 21 89.2

80 16 5037 36 22 16 99

100 20 6052 41 27 20 117

125 25 7052 50 30 25 142

SUSA | BARIAT R3 : MEEI1T

H4X |CRCHZAD B = HEEs B AR CRCH32ZY B = #HEEs B AR

[mm] [g] [g]

12 2 20 537790 SNCL-12 3 20 537794 SNCL-12-R3
16 2 21 537791 SNCL-16 3 21 537795 SNCL-16-R3
20 2 38 537792 SNCL-20 3 38 537796 SNCL-20-R3
25 2 41 537793 SNCL-25 3 41 537797 SNCL-25-R3
32 2 71 174404 SNCL-32 - - -

40 2 95 174405 SNCL-40 - - -

50 2 158 174406 SNCL-50 - - -

63 2 225 174407 SNCL-63 - - -

80 2 436 174408 SNCL-80 - - -

100 2 606 174409 SNCL-100 |- - -

125 2 1135 174410 SNCL-125 |- - -

1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : FIZENDRE. ENEA THRENMEE T3 HEFREDRE. BEARICHININOSRCEFHNDREIENEREN D,
CRC3 : BEORE. EHNTOEAOSEEFEEOEEEF TRETLE. AEAKICEINSIEIOEPREE AN RRMIEEEREN 2.,

201604 2>www.festo.jp/catalogue/adn 81




BRISUSSY

ey

HRE#Z{T 1UIVEARE SNCS-_

FESTO

TG
M & . ; ‘ll h_ @ 7N @
SNCS-32~80 : 7ILZHAHZK _ 1 ; T ||
SNCS-100, 125 : #7388 H et wP |
oL@
SR LUPTFERER - =
RoHS3xHit XCe -
+ = 2NV EXZINE
SR TEERIRT -5
Nz CN E EP EX FL LT MS RA TG XC |CRCY & = H@EB\FsS B AR
H4Z (0]
[mm] +0.2 +0.2 +1 [g]
32 10+0:013 | 45%92 10.5 14 22 13 | 15+05 | 14.5 | 32.5| 72.2 |2 86 174397 SNCS-32
40 12+0:015 | 54.95 12 16 25 16 | 17+05 | 17.5| 38 | 75.2 |2 122 174398 SNCS-40
50 16+0-015 | 64-06 15 21 27 16 | 20+05 | 18.5 | 46.5 | 80.2 |2 216 174399 SNCS-50
63 16+0-015 | 75,06 15 21 32 21 | 2305 23 | 56.5 | 89.2 |2 281 174400 SNCS-63
80 200018 | 9308 18 25 36 22 | 2805 25 72 99 |2 557 174401 SNCS-80
100 20+0018 | 109%; 18 25 41 27 | 30+05 | 95 89 117 |2 683 174402 SNCS-100
125 30+0018 | 132%, 25 37 50 30 | 39«05 | 100 | 110 | 142 |2 1369 |174403 SNCS-125
1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : HIZEDRE, BAEATREENFLE T HSRETHE. BEAKICHEINSIEIOPRCE TR RRIIENEREND,
1WWIVERRBAI Sy LBG L2
ESFRIDIVESCEDEER @
UBLESICBITVET, N e
. \ ﬁfﬁt\ »
M B O/ u
LBG-32~63 : 45758 ~ s
~ « BRIE BRSNS ES
LBG-80~125 : ERIREsheEX | T T il
. S1 He | !]!
TABLUPTFERNMER RG RF ‘
ROHS & Ux UK |
S TELBRT -4
Nz CL|CM|EK|FL| GL |HB| L2 |LE|MR|RF| RG |S1 |UK |UX|CRCYE = HEE=s & R
H4X 0} 0} 0]
[mm] +0.2 [g]
32 28 |14.1/ 10 | 32| 16 |6.8 |35 |24 | 12 42| 20 |4.8| 56 |36 |2 220 31761 LBG-32
40 30 |16.1) 12 | 36 | 20 |68 39| 26|14 |44 | 26 |58 58 |41.5/2 300 31762 LBG-40
50 40 (21.1] 16 | 45| 25 |9.2 |50 |33 15|56 | 31 |58 70|47 |2 540 31763 LBG-50
63 40 [21.1] 16 | 50 | 25 9 |50 |38 |17 |56 | 31 (78|70 |49 |2 580 31764 LBG-63
80 50 |25.1/ 20 | 63| 30 | 11|60 49|18 | 70| 36 |7.8|89 |55 |2 1050 |31765 LBG-80
100 50 |25.1/ 20| 71| 41 | 11|60 | 56| 22| 70| 46 |9.8| 89 | 65 |2 1375 |31766 LBG-100
125 80 [37.2/ 30 | 90| 60 | 14 | 89 | 70 | 26 |106| 70 |11.8/128 | 96 |2 4140 |31767 LBG-125
1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : HFREEDRE. BNMERATRBNIRLEIZHSRENLE. BRAKICHEINIIEBOMBRCEFRINAREDUENEREINS,
82 =2>www.festo.jp/catalogue/adn 201604




BRISUYY
P

YWFRISa>vFyh DPNA

7=

T2 PILZTILNA ML
R U HoEM

B LUPTFERMER
ROHSi&

NIVFIRSSa>Fy hefEo T3l

IAREHENEZIHE. B5T0
ANO—-INEZROFAIEZEBR
BOLSELEL TLZEL,

201604

FESTO

iy,
-u.l L] &l
Il 853 =tk
% @ =
' - *_".' S A S TS
iy 4 L2+ B1 L2+
+ = ANV R2ZINE
S TEEBRIRT -4
Sz L2 B1 =N )| CRCY g 8 HWRES B R
H4Z AkO-4
[mm] [mm] [g]
12 35 2 28 537263 DPNA-12
16 13 600 33 537264 DPNA-16
20 37 50 537265 DPNA-20
25 39 60 537266 DPNA-25
32 44 99 537267 DPNA-32
40 129 537268 DPNA-40
50 45 15 800 196 537269 DPNA-50
63 49 249 537270 DPNA-63
80 54 17 1000 474 537271 DPNA-80
100 67 19.5 712 537272 DPNA-100

1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : FIZENDIRE, EAEATHENRESIHERENRE. AEARICHEEN 290 RCE PRI BRREDLENERENS,

=2>www.festo.jp/catalogue/adn

83




BRISULH FESTO
7otH)

1WIVERRI'S5Y b LBN

M & HoEi
!
S LUPTFEARER
ROHSXT &
SRsTEEBRT -4
SV CM EK FL GL HB LE | MR | RG UX |CRCY 8B 2 HRES ® K
B4R (0} 0}
[mm] [g]
12, 16 12.1 6 2703 13 | 5.5 24 7 15 25 |1 40 6058 LBN-12/16
20, 25 16.1 8 30.8; 16 | 6.6 26 10 20 32 |1 84 6059 LBN-20/25

1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC1 : BEDRE, ZIRUEREAFEINX-RE (0/(-TEONTLSEDER. SIS BERTERMERT. BREP(EAERCINE> TV SEPRICEREINS) .

1WIVERRAT S5y CRLBN

M & AFILA

B LUPTFEARMEA
ROHSYF &

S TELBINT -4

Sz CM EK FL GL HB LE MR RG UX |CRCY B =2 (HmE&Es ® AR

H4X 0}

[mm] [g]

12, 16 12.1 6 27553 13 5.5 24 7 15 25 |4 39 161862 CRLBN-12/16
20, 25 16.1 8 3075 16 6.6 26 10 20 32 |4 82 161863 CRLBN-20/25

1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC4 : RBREORE. SETAMEENE BHTRVEREZHSEN TOFER
BROEREISHE, BBEMOEOAT(T2ERTZIVTOEPGRICERA
INBOT7 IV -2 3> TRIBECLOTRAEOAT(FEFELMATAMEERENS (FN940082 HSH8)

84 =2>www.festo.jp/catalogue/adn 201604



BRISULH FESTO

7S
2LVEZAER 1 & . .
SNCB-_/SNCB-_R3 _ ‘ @
Mo i -'»'l h < .
SNCB-_ : PLZHHAN 1® . \ | 17
SNCB-_-R3 : J / \
FIZHAHAN (REI-74>) L =

FL UB

N XC+

B SLUPTFEARER
RoHS#Hi + = ANO-VE%MNE
NAsTikeBRT—4
SOV CB EK FL L MR UB XC
HAZ [0
[mm] H14 e8 +0.2 h14
32 26 10 22 13 8.5 45 72
40 28 12 25 16 12 52 76
50 32 12 27 16 12 60 80
63 40 16 32 21 16 70 89
80 50 16 36 22 16 90 99
100 60 20 41 27 20 110 117
125 70 25 50 30 25 130 142
UMY | BRI T R3 : MRS
H4ZX |CRCISAV & 2 #}EES B CRCH3RY | & = #2EmES B K
[mm] [g] [g]
32 2 103 174390 SNCB-32 3 100 176944 SNCB-32-R3
40 2 155 174391 SNCB-40 3 151 176945 SNCB-40-R3
50 2 232 174392 SNCB-50 3 228 176946 SNCB-50-R3
63 2 375 174393 SNCB-63 3 371 176947 SNCB-63-R3
80 2 636 174394 SNCB-80 3 632 176948 SNCB-80-R3
100 |2 1035 174395 SNCB-100 3 986 176949 SNCB-100-R3
125 |2 1860 174396 SNCB-125 3 1776 176950 SNCB-125-R3

1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : HIZEDRE. BREATREEIRLE T HSRETLE. BAEAKICEINSIEP O RCE TR RREIENEREN S,
CRC3 : BEMRE. B TOEAOSBEEFEEOBEMEF TRETLE, BEATICHEENSIMEIOSPREE (CHEERN RRMUIEEEREN D,

201604 2>www.festo.jp/catalogue/adn 85



BRSYYY FESTO
719
rNZAVE&E
ZNCF-_/CRZNG-_ 1L TH 1L
e ble=@dl, O o
ZNCF-_ : 4&5ksESk == / \ 2 "
CRZNG-_ : BARTIEHT A — Gi ol 1 (13
. {3 ‘@@' ™ | |
B LUPTFEAERR N N2 | [J
RoHS3 i = A U
c3 XL+
+ = ANV RSZINE
S TELBRT -4
SOVZ) Cc2 C3 TD TK TL ™ us XH XL
H4Z (0}
[mm] e9
32 71 86 12 16 12 50 45 2 58
40 87 105 16 20 16 63 54 4 61.1
50 99 117 16 24 16 75 64 4 64.7
63 116 136 20 24 20 90 75 4 68.5
80 136 156 20 28 20 110 93 5 76.9
100 164 189 25 38 25 132 110 10 95
125 192 217 25 50 25 160 131 14 117
SUSA | BARIAT R3 : MEEY(TS
H(X |RCZV|E B [BeES & R RCA|E B |Hm&S ®E R
[mm] [g] [g]
32 2 150 174411 ZNCF-32 4 150 161852 CRZNG-32
40 2 285 174412 ZNCF-40 4 285 161853 CRZNG-40
50 2 473 174413 ZNCF-50 4 473 161854 CRZNG-50
63 2 687 174414 ZNCF-63 4 687 161855 CRZNG-63
80 2 1296 174415 ZNCF-80 4 1296 161856 CRZNG-80
100 2 2254 174416 ZNCF-100 4 2254 161857 CRZNG-100
125 2 3484 174417 ZNCF-125 4 3484 185362 CRZNG-125
1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : FIZENRE. ENEA THENRE T IHOFRERE. AEAKICHEININIDOISRCEFRNDREWIENEREN D,
CRC4 : REENORE, SLTRMERYE @ TRVEEEZEIRNTOER
BROEREISHE, SBEMEOEOATTEERTZIUTOERGRICER
INBOT VT -3 TG ECIH TIREFEDAT( FPERERMAT AN EREIND (FN940082 £5H8)
86 =2>www.festo.jp/catalogue/adn 201604




BRISUSSY

FESTO
7o)
F5=AYTS55Yb LNZG =
< .
Mo 1©--Ol=z
K K PILZTIVA MR TH
NP2 : Hifg w
DA
B LUPTFEARMER L'"':f\:’ B
ROHSSHI . Q} ol
il
S BRT -5
SUVZ CR DA FK FN FS H1 HB KE NH TH UL |CRCYZAD | E = H}eES B AR
DEPS 0] o o )
[mm] D11 | H13 | £0.1 H13 +0.2 [g]
32 12 11 15 30 |[10.5| 15 | 6.6 | 6.8 | 18 32 46 |2 83 32959 LNZG-32
40, 50 16 15 18 36 12 18 9 9 21 36 55 |2 129 32960 LNZG-40/50
63, 80 20 18 20 40 13 20 11 11 23 42 65 |2 178 32961 LNZG-63/80
100, 125 | 25 20 25 50 16 |24.5| 14 13 |28.5| 50 75 |2 306 32962 LNZG-100/125

1) =Corrosion Resistance Class (Festo standard FN 940070)
CRC2 : HIZEDRE, BANEATRENRLE T IHSRETLE, BEAKICHEINSIEIOPRCE TR RREIENERENS,

201604

=2>www.festo.jp/catalogue/adn

87



BRIUYY FESTO
FHEH)
BRT—4 - OYyREiHEEE SEHIMEAR S R—LAR— : piston-rod attachment
S8 [dn x| mesEs B R s 8 [z | mEEs B R
OyR74 SGS 21LFv4)L SGA (OYR7ASGSOZIFELT)
5 |12 - 12, 16, 20, 25 | -
@3 16 9254 SGS-M6 ﬁ 32, 40 32954  SGA-M10x1,25
20, 25 9255 SGS-M8 50, 63 10767  SGA-M12x1,25
32, 40 9261 SGS-M10x1,25 80, 100 10768  SGA-M16x1,25
50, 63 9262 SGS-M12x1,25 125 10769  SGA-M20x1,25
80, 100 9263 SGS-M16x1,5
125 9264 SGS-M20x1,5 ILEVUNTS FK
12 30984  FK-M5
21137l SG 16 2061 FK-M6
5 |12 - 20, 25 2062 FK-M8
(@ 16 3110 SG-M6 32, 40 6140 FK-M10x1,25
20, 25 3111 SG-M8 50, 63 6141 FK-M12x1,25
32, 40 6144 SG-M10x1,25 80, 100 6142 FK-M16x1,5
50, 63 6145 SG-M12x1,25 125 6143 FK-M20x1,5
80, 100 6146 SG-M16x1,5
125 6147 SG-M20x1,5 I5>SNT5 KSZ (B85l ZAEH)
12 -
@ 16 36123  KSZ-M6
20, 25 36124  KSZ-M8
I3INT3 KSG 32, 40 36125  KSZ-M10x1,25
12,16, 20, 25 |- 50, 63 36126  KSZ-M12x1,25
32,40 32963  KSG-M10x1,25 80, 100 36127  KSZ-M16x1,5
50, 63 32964  KSG-M12x1,25 175 36128  KSZ-M20xL5
80, 100 32965  KSG-M16x1,5
125 32966  KSG-M20x1,5
7975 AD
) - 1
é, 16 157328 AD-M6-M5
/ 157329 AD-M6-1/8
157330 AD-M6-1/4
20 157331 AD-M8-1/8
25 157332 AD-M8-1/4
32 157333 AD-M10x1,25-1/8
40 157334 AD-M10x1,25-1/4
50 160256 AD-M12x1,25-1/4
63 160257 AD-M12x1,25-3/8

88

=2>www.festo.jp/catalogue/adn

201604




BRISUYY FESTO
Vi)
BHKF7—4 - yREREE (MER) SEM{LAR & Internet: crsg
S8 [z |meEs B R s 8 [SUdeax | mEEsS B R
OyR74 CRSGS 21L1Fy7)L CRSG
& 12 - ® 12 -

@ "~ 16 195580 CRSGS-M6 @ 16, 20 13567 CRSG-M6

20, 25 195581 CRSGS-M8 20, 25 13568 CRSG-M8

32,40 195582 CRSGS-M10x1,25 32,40 13569 CRSG-M10x1,25

50, 63 195583 CRSGS-M12x1,25 50, 63 13570 CRSG-M12x1,25

80, 100 195584 CRSGS-M16x1,5 80, 100 13571 CRSG-M16x1,5

125 195585 CRSGS-M20x1,5 125 13572 CRSG-M20x1,5
ILEYHTS5 CRFK

y |32, 40 2305778 CRFK-M10x1,25

50, 63 2305779 CRFK-M12x1,25

80, 100 2490673 CRFK-M16x1,5

125 2545677 CRFK-M20x1,5
BR7—4 - Oy REiRsE SHHIMEIAR & IR— A= clevis foot
s 8 SR | BRES B R S8 sz (meEs B R
1LALEZET S5y LBG JLEZT—h LQG
7 32,40 31761 LBG-32 9 32, 40 31768 LQG-32
1 50, 63 31762 LBG-40 . 4) 50, 63 31769 LQG-40

80, 100 31763 LBG-50 w 80, 100 31770 LQG-50

31764 LBG-63 31771 LQG-63
125 31765 LBG-80 125 31772 LQG-80
31766 LBG-100 31773 LQG-100

BRF—4 - A2E-RI>bO-5

SEHEAR SIR—LR—> : grla

# fit 94T HmEs B N

SUSHIHAZ | EAF1-THHED

12, 16, 20, 25 3 XENAA1T 193137 GRLA-M5-QS-3-D
4 193138 GRLA-M5-QS-4-D
6 193139  GRLA-M5-QS-6-D

32, 40, 50, 63, 80, 100 |3 193142  GRLA-1/8-QS-3-D
4 193143  GRLA-1/8-QS-4-D
6 193144  GRLA-1/8-QS-6-D
8 193145 GRLA-1/8-QS-8-D

125 6 193146  GRLA-1/4-QS-6-D
8 193147 GRLA-1/4-QS-8-D
10 193148 GRLA-1/4-QS-10-D

201604

=2>www.festo.jp/catalogue/adn

89




BRSYSY FESTO
Vscasd)
BRF—4 - AE—RI>bO-5 SEHMEAR D R—LR—2 : grlz
& 947 noEs #B R
SUSHHAZ | EAF1-T4ME
12, 16, 20, 25 3 ANAAT 193153 GRLZ-M5-QS-3-D
4 193154 GRLZ-M5-QS-4-D
6 193155 GRLZ-M5-QS-6-D
32, 40, 50, 63, 80, 100|3 193156 GRLZ-1/8-QS-3-D
4 193157 GRLZ-1/8-QS-4-D
6 193158 GRLZ-1/8-QS-6-D
8 193159 GRLZ-1/8-QS-8-D
125 - 151195 GRLZ-1/4-B
BRF—45 - WMESTIERAYF SRS D R—LK— : smt
B 755% ‘xwﬂa“ ‘EH?&%E:‘& IR RIES B R
Output [m]
J—3NA-T>
e SUIAF1—T DRAYFEUHEIC | PNP 3T —JI 2.5 574335 SMT-8M-A-PS-24V-E-2,5-OE
y FEBEDA> T -1 3t>M8x1754 | 0.3 574334 SMT-8M-A-PS-24V-E-0,3-M8D
3t>M12x175%40.3 574337 SMT-8M-A-PS-24V-E-0,3-M12
NPN 3tgT-JI 2.5 574338 SMT-8M-A-NS-24V-E-2,5-0OE
3t>M8x17354 | 0.3 574339 SMT-8M-A-NS-24V-E-0,3-M8D
J—3WH0-Z
e SVIAF1—-TDRAYFEUHEIC | PNP 3t&T-JI 7.5 574340 SMT-8M-A-P0O-24V-E-7,5-0OE
@7 EEBEDASY—

90

=2>www.festo.jp/catalogue/adn

201604




BRISUSSY

sy

BRT—5 - BEQAEZIYF

FESTO

SHEEAR D R—AR—> @ sme

&

B3 ‘ 2AYFY ‘ R yakse r-JIE: | BeEs B R
Output [m]
J=RIWNA=T>
SSAFI-TOZA(YFEAFBIC |35 = 3Rr—JIL 2.5 543862 SME-8M-DS-24V-K-2,5-0OE
% FEBED> T -1 5.0 543863 SME-8M-DS-24V-K-5,0-0OE
288 —-JI 2.5 543872 SME-8M-ZS-24V-K-2,5-0OE
3€>M8x17354 0.3 543861 SME-8M-DS-24V-K-0,3-M8D
% SUVAF1-TDRAYFETENG |18 = 3Rr—JIL 2.5 150855 SME-8-K-LED-24
EOAFAR 3€>M8x1754 0.3 150857 SME-8-S-LED-24
J—H0-X
J SUSHF1-TOZAYFEUSE |18 = - 7.5 160251 SME-8-O-K-LED-24
EDZSA R
BKFT—4 - 5—TWFYovbh SHERR S R—AR—2 1 nebu
ZAyFAIECES Pl pea® r-JLEs |®REsS B R
[m]
M 3EZM8X1AR — VYR 3MRr—JI, N5 2.5 541333 NEBU-M8G3-K-2,5-LE3
5 541334 NEBU-M8G3-K-5-LE3
5E>M12x1ZA M — Yoy h 3R —J), N5 2.5 541363 NEBU-M12G5-K-2,5-LE3
5 541364 NEBU-M12G5-K-5-LE3
3E>M8x17> Iy 3R —J), N5 2.5 541338 NEBU-M8W3-K-2,5-LE3
5 541341 NEBU-M8W3-K-5-LE3
SESM12x17>5 IV 3R —J), N5 2.5 541367 NEBU-M12W5-K-2,5-LE3
5 541370 NEBU-M12W5-K-5-LE3
BRF -4 - BEERITEAIYF SEEAE S 7R—AR— : smpo
B ME REES B R
3R—bk/—=3)Ly0-X
M5RU 178563 SMPO-8E
BRF—45 - Z(yFRIEE SEHB(TEE > R—LAX—3 1 smb
B4 53 nRES B R
TBICISVT 178230 SMB-8E
BRF—4 - BHN—
Bt 5% ARFE AT nRES B R
BRICA>Y =1 0.5mx2A 151680 ABP-5-S

201604

=2>www.festo.jp/catalogue/adn

91




.com.ar
.at
.com.au
.be

.bg
.com.br
.by FESTO
.ca

.ch

.cl

.cn

.co

.cz

.de

.dk

Festo worldwide

www.festo.jp

.com.my

.nl

.no

.co.nz

.pe

.ph

.pl

.pt

.ro

ru JIZAMFA=tE

.se At

.Sg T224-0025

.si HEaEMERX RN 1-26-10
sk e

.co.th TEL: 045-593-5611
.com.tr FAX: 045-593-5678
Aw BLEEZEM

.ua TEL: 052-325-8383
.co.uk FAX: 052-325-8384
us KIREZERR

.co.ve TEL: 06-4807-4540
.vn FAX: 06-4807-4560
.co.za

URL : www.festo.jp
E-mail : info_jp@festo.com




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


